= FERRULE

SAE 100R7/R84 2
Q00018 Ferrule For SAE 100 R7/R8 Hose
) rRe % # HOSE BORE < DIMENSIONS
e PART NO. 2R DN #55 DASH L D
ﬁ-—m Q00018-02 4 02 25 135
+H- = Q00018-03 5 03 37 15
Q00018-04 6 04 30 18
Q00018-04A 6 04 29 14
= Q00018-05 8 05 30 18.8
Y o Q00018-06 10 06 34 21
' / 4 Q00018-08 13 08 34 255
Q00018-08A 13 08 3% 272
/ Q00018-10 16 10 a7 315
Q00018-10A 16 10 a7 28.6
Q00018-12 19 12 43 33
GB 3863 18LDIN 20022 1ST,SAE 100 R1ATrEER
Q00100 For GB3863 1Type,DIN 20022 1ST,SAE 100 R1A Hose Ferrule
L e % HOSE BORE 7+ DIMENSIONS
PART NO. A FRME DN 5 DASH L D
Q00100-04 6 04 30 20
_M_ = Q00100-05 B 05 31 21
Q00100-06 10 06 32 23
Q00100-08 13 08 34 28.5
Q00100-10 16 10 37 a2
Q00100-12 19 12 42 35
Q00100-16 25 16 50 43
_ Q00100-20 32 20 59 50. 5
Q00100-24 38 24 72 57
. Qo0100-32 51 32 74 70
GB 3863 284, DIN 20022 2ST,SAE 100 R2AGEER
Q00200 For GB3863 2 TypeDIN 20022 2ST,SAE 100 R2A Hose Ferrule
: e # 9 HOSE BORE 7+ DIMENSIONS
PART NO. A {E DN #5 5 DASH L D
a Q00200-04 6 04 30 21
_m_e Q00200-05 8 05 31 225
Q00200-06 10 08 ) 24
Q00200-08 13 08 34 287
Q00200-10 16 10 a7 315
Q00200-12 19 i2 43 36
Q00200-16 25 16 50 a4
Q00200-20 a2 20 59 54.5
Q00200-24 38 24 74 62
Q00200-32 51 32 78 75
© BNEEREEMERAS
HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



=R FERRULE

Q001 1 OA A SAE 100RIAT/DIN 20022 1SNINEER
Ferrule For SAE 100RIAT/DIN 20022 1SN HOSE
L e ##% HOSE BORE i<+ DIMENSIONS
PART NO. % ¥ P DN #i2 DASH L D
: m Q00110-04A 6 04 30 21
] I o Q00110-05A 8 05 31 21.8
QO00110-06A 10 06 32 24.3
Q00110-08A 13 08 34 28.4
Q00110-10A 16 10 37 32
Q00110-12A 19 12 43 35.5
! QO0110-16A 25 16 50 44
‘ Q00110-204A 32 20 59 53
B QO0110-24A 38 24 74 59,3
Q00110-32A 51 32 78 73.5

SAE 100RIAT/DIN 20022 1SNEREER

Q00110 Ferrule For SAE T00RIAT/DIN 20022 1SN HOSE

L e % HOSE BORE J&+f DIMENSIONS

PART NOQ. #FH 4 DN 5 DASH L D

M Q00110-04 6 04 30 20.6

4 LA Q00110-05 8 05 1 20.8

Q00110-06 10 06 32 23.3

Qo0110-08 13 08 34 27

Q00110-10 16 10 37 32

. Qo0110-12 19 12 43 34

Q00110-16 25 16 50 42.6

Q00110-20 32 20 59 52

Q00110-24 38 24 74 58

Qo0110-32 51 32 78 T2

GB 3863 28, DIN 20022 25T,SAE 100 RZATIREER

Q00210 For GB3863 2 Type,DIN 20022 25T,SAE 100 R2AT Hose Ferrule
s $E HOSE BORE < DIMENSIONS
L PART NO, A ¥4 2 DN 5 DASH L D
] Q0o0210-04 6 04 30 22.3
ﬂ IT Q00210-05 8 05 31 23
to Q00210-06 10 06 32 25
QD0210-08 13 08 34 28.7
Q00210-10 16 10 37 31.5
Qo0210-12 19 12 43 35.5
Q00210-16 25 16 50 45
Q00210-20 32 20 59 55
Q00210-24 38 24 74 62.5
Qo0210-32 5:1 32 78 75.5
A EER T LENWZE, Dontrecommend for engineering machine.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

D



= FERRULE

SAE R2AT, DIN 20022 2SN SIEER

Q03310 Ferrule For SAE R2AT DIN 20022 2SN HOSE

e # % HOSE BORE Ji5F DIMENSIONS

L PART NO. A®PT DN | $i% DASH L D

Q503310-04 5] 04 30 23.2

Q503310-05 8 05 30 24

1 - o Q503310-06 10 06 32 26.3

QsS03310-08 13 08 34 29.9

Qs03310-10 16 10 36 33.2

Qs03310-12 19 12 42 37.8

Qs03310-16 25 16 50 46.9

QS03310-20 32 20 59 59

‘ Qs03310-24 38 24 72 67

(7Y Qs03310-32 51 32 75 80

Er—ERa4mBUEER

001 1 00 Ferrule For China Standard 1-steel Wire Braid Hose
. fug # & HOSEBORE s DIMENSIONS
PART NO. A DN k5 e DASH L D
; Q01100-04 6 04 30 19
m]fmﬂ Q01100-05 8 05 32 21
Q01100-06 10 06 32 23
Q01100-08 13 08 34 2B
Q01100-10 16 10 37 31
Q01100-12 19 12 43 34
Q01100-16 25 16 50 41
Q01100-20 32 20 59 49
Q01100-24 38 24 74 55

B _EWN4RAREES

QDT 200 Ferrule For ChinaStandard 2-steel Wire Braid Hose
L fue #. % HOSE BORE L+ DIMENSIONS
PART NO. A A DN t5 5 DASH L D
i Q01200-04 6 04 30 21
mn Q01200-05 8 05 31 23
Q01200-06 10 06 32 25
Q01200-08 13 08 34 31
Q01200-10 16 10 39 34
Q01200-12 19 12 43 37
Q01200-16 25 16 50 43
Qo1200-20 32 20 59 51
Q01200-24 38 24 74 57
© BMBEREEMERAS
HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



=R FERRULE

Er-=ERAmANEER

Q(” 300 Ferrule For China Standard 3-steel Wire Braid Hose

L e ¥ HOSEBORE FL+ DIMENSIONS

- PART NO. LFHAE DN i 5 DASH L D
ﬂ]]j]j[T Q01300-05 8 05 32 355
] e Q071300-08 13 08 34 33
Q01300-10 16 10 39 36

Q01300-12 19 12 43 39

Q01300-16 25 16 50 45

Q01300-20 32 20 59 53

Q01300-24 38 24 74 59

Q01300-32 51 32 78 72

SAE 100 R12/20-24 ,GB 10544 53! g

001 400 Ferrule For SAE 100R12/20-24,GB 10544 Ty5pe Hose
L B & HOSEBORE F sl DIMENSIONS
PART NO. S M DN t5 5 DASH L D
Q01400-086 10 06 39 275
M L Q01400-08 13 08 41 315
Q01400-10 16 i0 43 34
Q01400-12 19 12 51 39
Q01400-16 25 16 61.5 46.5
Q01400-20 32 20 67.5 55.5
Q01400-24 38 24 75 63.5
Q01400-32 51 32 79 78
SAE 100 R12/06-16 GB 10544 38/20-32,DIN 20023-45P,4SH/10-16 & EM
Q00400 Ferrule For SAE 100 R12/06-16 ,GB 10544 3 Type/20-32,DIN 20023-45P.45H/10-16 Hose
" ¥ % HOSE BORE < DIMENSIONS
L PART NO. S H A DN 55 DASH L D
Q00400-04 6 04 37.5 22
j-m-]]m al Qo00400-06 10 06 39 25.5
1 - i Qo0400-08 i3 08 41 29
Qo0400-10 16 10 43 34
Qo0400-12 19 12 51 37
Q00400-16 25 16 61.5 46.5
Qo0400-20 32 20 67.5 57
Q00400-24 36 24 75 65
Q00400-32 51 32 79 79
@ BNEREREEMERAT
HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

)



= FERRULE

DIN 20023-45H i &R

Q00401 Ferrule For DIN 20023-4SH Hose
L He %1 HOSEBORE i~} DIMENSIONS
PART NO. AF M DN 75 DASH L D
Q00401-20 32 20 67.5 53
- -0 Q00401-24 38 24 75 61
Qo0401-32 51 32 79 77

Q00621 SAE 100 R13/R15 4,SH/12-16 #rE AN KER
Interlock Ferrule For SAE 100 R13/R15 4SH/12-16 Hose
1= % # HOSE BORE Ji<+ DIMENSIONS
L PART NO. L # A2 DN #55 DASH L D
] Q00621-12 19 12 53 39.5
I i E[ o Q00621-16 25 15 66 48.5
Q00621-20 32 20 88 59
Q00621-24 38 24 102 69.3
Qo0621-32 51 32 106 84.45

4

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



#reg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

Q10411

LHEIFMRER4°REER R

Metric Male 24° Cone Sest L.T.ISO 12151-2 -DIN3861

s1

e AT % HOSE BORE BT F=f DIMENSIONS

PART NO. THREADT | A#W{EDN | #x'% DASH TUBE 0.D L D | 51
Q10411-12-04 M12X%1.5 6 04 6 20.5 6 | 14
Q10411-14-04 M14X1.5 B 04 8 20.5 8 | 17
Q10411-14-05 M14X1.5 8 05 8 215 8 | 17
Q10411-16-04 M16X1.5 [ 04 10 225 10 | 17
Q10411-16-05 M16X1.5 B8 05 10 225 10 | 17
Q10411-16-06 M16X1.5 10 06 10 23.5 10 | 17
Q10411-18-05 M18X1.5 8 05 12 235 12 | 19
Q10411-18-06 M18X1.5 10 06 12 235 12 | 19
Q10411-22-06 M22X1.5 10 06 15 24.5 15 | 24
Q10411-22-08 M22X1.5 13 08 15 25 15 | 24
Q10411-26-08 M26X1.5 13 08 18 26.5 18 | 27
Q10411-26-10 M26X1.5 16 10 18 27 18 | 27
Q10411-30-10 M30X2 16 10 22 30 22 | a2
Q10411-30-12 M30x2 18 12 22 30 22 | 32
Q10411-36-16 M36X2 25 16 28 33 28 | 41
Q10411-45-20 M45X2 32 20 35 38 35 | 46
Q10411-52-24 M52X2 38 24 42 38.5 42 | 55

¥E: 1, ERRSHTHMAME. 2. 0T E845 80 S U hQ10412-XX-XX.

Note:1.For use with

braided hoses. 2.Ifuse with spiral hoses hose fitting series numberis Q10412-XX-XX,

@©

HYDRAULICS

BHEZERERMEIRAS

CANGZHOU QC HYDRAULICS CO., LTD

<O




gz HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

Lo SR 2 A° HEHFOBUER 2251
Q20411-W Metric Female 24°Cone O-Ring L.T.1SO 12151-2-DIN3865
15 BT #4¥ HOSE BORE HritE Ji+] DIMENSIONS
o L PART NO. THREADT | 4 #/N#DN | 45 DASH | TUBEOD | L | H S1
- °1|'h' giﬁn_:iﬁf M12X1.5 6 04 6 398| 16 14
E M14X1.5 6 04 8 39.8| 16 17
i = = Q20411-14-05W | M14X15 8 05 8 07| 17 7
Q20411-14-06W | M14X1.5 10 06 8 445|185 17
Q20411-16-04T M16X1.5 6 04 10 40.8| 17 19
Q20411-16-05T M16X1.5 8 05 10 407 17 19
Q20411-16-06W | M16X1.5 10 06 10 445|185 19
Q20411-18-05T M18X1.5 8 05 12 422|185 22
Q20411-18-06T M18X1.5 10 06 12 445|185 22
Q20411-18-08W | MI1BX1.5 13 08 12 50.8| 19.5 22
Q20411-22-08T M22X1.5 13 08 15 50.8| 19.5 27
Q20411-22-10W | M22X1.5 16 10 15 62.7| 23.5 27
Q20411-26-10T M26X1.5 16 10 18 62.7| 23.5 32
02041 qi=T Q20411-26-12W | M26X1.5 19 12 18 68.2| 255 32
Q20411-30-10T M30X%2 16 10 22 64.7| 255 36
) Q20411-30-12T M30X2 19 12 22 68.2| 255 36
51 Q20411-30-16W M30X2 25 16 22 814| 32 36
N Q20411-36-12T M36X2 19 12 28 74.7| 32 4
I -.Hmj:]_ Q20411-36-14T M36X2 22 14 28 79.5| 34 41
hl_ e | 0Q20411-36-16T M36X2 25 16 28 81.4| 32 41
Q20411-36-20W M36X2 32 20 28 98.8| 38 4
Q20411-45-16T M45X2 25 16 35 874 38 50
Q20411-45-20T M45%2 32 20 a5 98.8| 38 50
Q20411-45-24W M45X2 38 24 35 115.6{ 445 50
Q20411-52-20T M52%2 32 20 42 105.3 44.5 60
Q20411-52-24T M52X%2 a8 24 42 115.6| 44.5 60
Q20411-52-32W M52X2 51 32 42 137.6/ 57.6 60

i 1. BPASHTFREEE. 2. 0 H TFHESHE S8 h020412-XX-XX,  Note:1.For use with

braided hoses. 2.If use with spiral hoses, hose fitting series numberis Q20412-XX-XX.

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

45°BRFIRELR 4 HHOR B RS

Q20441 -W 45° Metric Female 24°Cone O-Ring L.T.ISO 12151-2-DIN3865
R AT B HOSE BORE HTHME Jist DIMENSIONS

) PART NO. THREADT | A% /A#DN | #5 DASH | TUBEO.D L H 51
Q20441-12-04W M12X1.5 6 04 6 47 | 25 14

Q20441-14-04T M14X1.5 6 04 8 a9 | 17 17

21 e Q20441-14-05W | M14X1.5 8 05 8 425 19 17
Q20441-14-06W M14%1.5 10 06 8 45 | 19 17

Q20441-16-04T M16X1.5 6 04 10 39 | 19 19

Q20441-16-05T M16X1.5 8 05 10 45 [ 215 19

Q20441-16-06W M16X1.5 10 06 10 54.6 | 28.6 19

Q20441-18-05T M18X1.5 8 05 12 46 | 22 22

- Q20441-18-06T M18X1.5 10 06 12 48 | 222 22
Q20441-18-08W M18X1.5 13 08 12 54 | 21.5 22

Q20441-22-087 M22X1.5 13 08 15 57 | 25 27

Q20441-22-10W M22X1.5 16 10 15 73 | 33.7 27

Q20441-26-10T M26X1.5 16 10 18 685 29 32

Q20441-T Q20441-26-12W | M26X1.5 19 12 18 81 | 385 32
Q20441-30-10T M30X2 16 10 22 68 | 28.5 36

Q20441-30-12T M30x2 19 12 22 74 | 315 36

L Q20441-30-16W M30X2 25 16 22 895 | 36.5 36
Q20441-36-12T M36X2 19 12 28 765 | 33.7 41

31 Q20441-36-14T M36X2 22 14 28 795 | 34 a1
Kﬂ T Q20441-36-16T M36X2 25 16 28 88 | 35 41
Q20441-36-20W M36X2 32 20 28 102 | 41.5 41

» Q20441-45-16T M45%2 25 16 35 88 | 35 50
Q20441-45-20T M45x%2 32 20 35 99.8 | 39.1 50

/ Q20441-45-24W | M45x2 38 24 35 1135 44.5 50

_ Q20441-52-20T M52x2 32 20 42 100 | 39.1 60
Q20441-52-24T M52%2 38 24 42 115 | 45.3 80

w Q20441-52-32W M52%2 51 32 42 132.5| 51.5 60

fE: 1. RPNSHTRARE. 2. oWl EEEE U5 e0N020442-XX-XX.
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Q20442-XX-XX.

Note:1.For use with

@

HYDRAULICS

BHEZERERMEIRAE

CANGZHOU QC HYDRAULICS CO., LTD

<




gz HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

90 EE L HIFMEL2 AR ORI R 5|

Q20491-W 90° Metric Female 24°Cone O-Ring L.T.ISO 12151-2-DIN3865
) R4 BaT % HOSE BORE AR Ji+ DIMENSIONS
PART NO. THREADT | ##R/4#%DN | 4+ DASH | TUBEQD | L | H S1
'/ Q20491-12-04W M12X1.5 6 04 6 32 305 14
Q20491-14-04T M14X1.5 6 04 8 32 305 17
Ty o Q20491-14-05W M14X1.5 8 05 8 325/| 33 17
o Q20491-14-06W M14X1.5 10 06 8 365 36 17
) Q20491-16-04T M16X1.5 6 04 10 32 | 33 19
il Q20491-16-05T M16X1.5 8 05 10 325/ 33 19
Q20491-16-06W M16X1.5 10 06 10 36.5| 36 19
Q20491-18-05T M18X1.5 8 05 12 325/ 36 22
£ Q20491-18-06T M18X1.5 10 06 12 36.5| 36 22
é Q20491-18-08W M18X1.5 13 08 12 445|405 22
Q20491-22-08T M22X1.5 13 08 15 44,5 | 40.5 27
Q20491-22-10W M22X1.5 16 10 15 55 |51.5 27
Q20491-T Q20491-26-10T | M26X1.5 16 10 18 56 | 51.5 32
Q20491-26-12W M26X1.5 19 12 18 62 | 56
; L Q20491-30-10T M30X2 16 10 22 55 | 56 36
Q20491-30-12T M30x2 19 12 22 62 | 56 36
f Q20491-30-16W M30X2 25 16 22 74 |68.5 36
" é Q20491-36-12T M36Xx2 19 12 28 62 |68.5 4
S_F Q20491-36-16T M36X2 25 16 28 74 |68.5 4
Q20491-36-20W M36X2 32 20 28 915|785 4
1] Q20491-45-16T M45X2 25 16 35 74 |78.5 50
- | Q20491-45-20T M45X2 32 20 35 915|785 50
Q20491-45-24W M45X2 38 24 35 108 | 95 50
Q20491-52-20T M52X2 32 20 42 915|785 60
Q20491-52-24T M52X2 38 24 42 108 | 95 60
Q20491-52-32W M52xX2 51 32 42 133.8/130.5 60
@ e 1 BRAEHTHANE. 2. MFEH TR S008020492-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Q20492-XX-XX.

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

AFIMELRASRERERS
Q10511 Metric Male 24°Cone H.T.ISO 84341-2-DIN3861
5 AT k¥ HOSE BORE oz | ] DIMENSIONS
PART NO. THREADT | Z#i4#2DN | 55 DASH | TUBEQ.D| L D | 51
L Q10511-14-04 M14X1.5 B 04 8 24 6 | 14
51 Q10511-16-04 M16X1.5 6 04 8 265 8 |17
Q10511-18-04 M18X1.5 6 04 10 26.5 10 | 19
oyt T | Q10511-18-06 M18X1.5 10 06 10 27 10 | 19
u 2 — | Q10511-20-05 M20X1.5 B8 05 12 28 12 | 22
Q10511-20-06 M20X1.5 10 06 12 28 12 | 22
Q10511-22-06 M22X1.5 10 06 14 28.5 14 | 24
Q10511-24-08 M24X1.5 13 08 16 32 16 | 27
Q10511-30-10 M30X2 16 10 20 36 20 | 32
Q10511-30-12 M30X2 19 12 20 36 20 | 32
Q10511-36-12 M36X2 19 12 25 40 25 | 41
Q10511-36-16 M3gXx2 25 16 25 4 25 | 41
Q10511-42-16 M42X2 25 16 30 43 30 | 46
Q10511-52-20 M52x2 32 20 38 48 38 | 55

H: 1 #BPRSHFHIEE. 2, DHHFESHEMSHNQ0512-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses hose fitting series number is Q10512-XX-XX.

AHIREGR24 HFORBEE RS

Q20511-W Metric Female 24°Cone O-Ring H.T.1SO 12151-2-DIN3865
1 5 SRAT %% HOSE BORE HFiME Jist DIMENSIONS
51} PART NO. THREAD T | #f8IM4EDN | #% DASH | TUBEO.D It S1
M~ o) Q20511-14-04T M14X1.5 3 04 6 235 17
[ | Q20511-16-04T M16X1.5 6 04 8 24 19
Q20511-16-05T M16X1.5 8 05 8 24 19
Q20511-18-04T M18X1.5 B 04 10 25 22
Q20511-18-05T M18X1.5 8 05 10 25 22
Q20511-18-06T M18X1.5 10 06 10 25 22
Q20511-20-06T M20X1.5 10 06 12 28.5 24
Q20511-20-08W M20X1.5 13 08 12 29 24
Q20511-22-06T M22X1.5 10 06 14 25.5 27
Q20511-24-06T M24X1.5 10 06 16 29.5 30
QZOS 1 1 ‘T Q20511-24-08T M24X1.5 13 08 16 30 30
L @20511-30-10T M30X2 16 10 20 a4 36
L Q20511-30-12T M30X2 19 12 20 35 36
i Q20511-36-12T M36X2 19 12 25 32 46
1 WTITT)  TQ20511-36-16T | M3sx2 2 16 25 | 855 45
Q20511-42-12T M42x2 19 12 30 35 50
Q20511-42-16T M42X2 25 16 30 36 50
Q20511-42-20W M42x2 32 20 30 34.5 50
Q20511-52-20T M52X2 32 20 38 36 60
Q20511-52-24T M52X2 38 24 38 36 60
i 1, BPRSHTHRAPE. 2. WFEHTHSKENSHHQ20512-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is Q20512-XX-XX.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



gz HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

Q20541-W

A5° IR 2 AR OB R E RS

45° Metric Female 24°Cone O-Ring H.T. 1SO 12151-2-DIN3865

= WRET 45 HOSE BORE i S DIMENSIONS

PART NO. THREAD T | A#:/9f2DN | 7% DASH | TUBEOD | L H S1
Q20541-14-04T M14X1.5 6 04 6 408 | 17 17
Q20541-16-04T M16X1.5 8 04 8 408 | 17 18
Q20541-16-05T M16X1.5 8 05 B 47| 18 18
Q20541-18-04T M18X1.5 6 04 10 08 | 17 22
Q20541-18-05T M18X1.5 B 05 10 4171 18 22
Q20541-18-06T M18X1.5 10 06 10 445 | 185 22
Q20541-20-06T M20X1.5 10 06 12 445 | 18.5 24
Q20541-20-08W M20X1.5 13 08 12 23| 21 24
Q20541-22-06T M22X1.5 10 06 14 489 | 229 27
Q20541-24-06T | M24X1.5 10 06 16 445 | 185 30
Q20541-24-08T | M24X15 13 08 16 523 | 21 30
Q20541-30-10T M30X2 16 10 20 642 | o5 36
Q20541-30-12T M30X2 19 12 20 722 | 305 36
Q20541-36-12T M3BX2 19 12 25 732 | 305 46
Q20541-36-16T M36X2 25 16 25 849 | 355 48
Q20541-42-12T M42X2 19 12 30 782 | 355 50
Q20541-42-16T M4z2x2 25 16 30 849 | 355 50
Q20541-42-20W M42x2 32 20 30 10275 42 50
Q20541-52-20T Ms2X2 32 20 38 10275 42 60
Q20541-52-24T M52X2 38 24 a8 11571 448 60

i 1. RPRSAFHEAGE. 2. nF T ESEER S ANQ20542-X0-XX,
braided hoses. 2.Ifuse with spiral hoses hose fitting series numberis Q20542-XX-XX.

Note:1.For use with

@

HYDRAULICS

BNEZERERMEBRLF

CANGZHOU QC HYDRAULICS CO., LTD

<o




weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

H

90° LM IR B2 4 HORBE K5
Q20591-W 90°Metric Female 24°Cone O-Ring H.T.1SO 12151-2-DIN3865
e ST ## HOSE BORE ETHE Jist DIMENSIONS
% PART NO. THREADT | A% M*DN | /5 DASH | TUBEOD | L | H S
L Q20591-14-04T | M14X1.5 8 04 8 32| 32 17
/ o Q20591-16-04T | M16X1.5 6 04 8 32 | 32 19
Q20591-16-05T | M16X15 8 05 8 325 34 19
= Q20591-18-04T | MiBXi5 8 04 10 32| 32 25
Q20591-18-05T | MI8X1.5 8 05 10 325 34 22
= Q20591-18-06T | M1BX1.5 10 06 10 365| 355 20
Q20591-20-06T | M20X1.5 10 06 12 36.5| 35.5 24
" Q20591-20-08W | M20X15 13 08 12 445 43 24
Q20591-22-06T | M22X1.5 10 06 14 36.5| 43 27
L2 Q20591-24-06T M24X1.5 10 06 16 445 43 30
Q20591-24-08T | M24X1.5 13 08 16 445 43 30
_ Q20591-30-10T M30X2 16 10 20 55 | 49.5 36
Q20591-30-12T M30X2 19 12 20 62 | 59 36
Q20591-36-12T M3BX2 19 12 25 62 | 59 46
Q20591-T Q20591-36-16T | M36X2 25 16 25 74 | 70 46
Q20591-42-12T M42X2 19 12 30 74 | 70 50
L Q20591-42-16T Ma2X2 25 16 30 74 | 70 50
Q20591-42-20W | M42x2 32 20 30 915| 87 50
/ Q20591-52-20T M52X2 32 20 38 915/ 87 80
Q20591-52-24T M52X2 a8 24 a8 108| 100 60

& W 1. RS ATROIE, 2. I ETALIE S EN0205020CXX.  Note:t.Foruse with

=+ braided hoses. 2.If use with spiral hoses, hose fitting series number is Q20592-XX-XX.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



gz HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

N PRSI BRE
Q201 11 Metric Female Multiseal
NP o= BELT % HOSE BORE Jis DIMENSIONS
PART NO. THREAD T | 2#5N4EDN | 455 DASH L S1
Al Q20111-12-04 M12X1.5 6 04 195 17
Q20111-12-05 M12X1.5 8 05 19.5 17
Q20111-14-04T M14X1.5 6 04 19.5 17
Q20111-14-05 M14X1.5 8 05 19.5 19
Q20111-16-04T M16X1.5 6 04 20 19
Q20111-16-05T M16X1.5 8 05 20 19
Q20111-18-06T M18X1.5 10 06 20.5 22
Q201 1 1_T Q20111-18-08 M18X1.5 13 08 22 24
Q20111-22-08T M22X1.5 13 08 22.8 27
&1 L Q20111-24-10 M24X1.5 16 10 25.5 30
) Q20111-27-10T M27X%1.5 16 10 235 32
_ m Q20111-30-12T M30X1.5 19 12 24,5 36
| J [[Q20111-39-16T | Maoxz 25 16 295 46
. Q20111-45-20T M45X2 32 20 315 55
Q20111-52-24T M52X2 38 24 33 60

i 1, BPRSETFRSASE, 2. 0BT ESHEN S HQ20112-XX-XX,  Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series number is Q 20112-XX-XX.

A5°E8 A IR EKE
Q20141 45° Metric Female Multiseal
; e e ¥ HOSE BORE 5+ DIMENSIONS
PART NO. THREADT | &#HiDN | #+%5 DASH L H 51
<1 Q20141-12-04 M12X1.5 6 04 395|165 17
/z = Q20141-14-04T | Mi14x15 6 04 43 | 183 17
> ; Q20141-14-05 M14X1.5 8 05 455|222 19
o Q20141-16-04T M16X1.5 (<] 04 425 | 21.4 18
Q20141-16-05T M16X1.5 2] 05 445 19.5 19
Q20141-16-06 M16X1.5 10 06 50 | 24 22
Q20141-18-06T Mi18X1.5 10 06 50 | 24 22
Q20141-18-08 M18X1.5 13 08 58.5 | 28.8 24
Q201 41 _T Q20141-22-08T M22X1.5 13 08 60 | 27.2 27
Q20141-24-10 M24X1.5 16 10 67 | 27 a0
L Q20141-27-10T M27X1.5 16 10 69 | 29.6 32
Q20141-30-12T M30X1.5 19 12 76.5 | 33.7 36
1l Q20141-39-16T M3gx2 25 16 86 |33.6 48
/{F = Q20141-45-20T Md45%2 32 20 99 | 38.4 55
A Q20141-52-24T M52%2 38 24 114 | 44.6 60
/ HE: 1 BPRTHATRARE. 2, WFH TR AT H020142-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series numberis Q20142-XX-XX.

e |

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

Q20191 9@”&'&%‘%%@
90°Metric Female Multiseal

- rRe g ¥ HOSE BORE 5] DIMENSIONS
PART NO. THREAD T | 2/ #:DN | #5% DASH L | H 51
/r Q20191-12-04 M12X1.5 6 04 30 | a2 17
T Q20191-14-04T M14X1.5 6 04 32 | 355 17
3! Q20191-14-05 M14X1.5 8 05 33 | 405 19
L Q20191-16-04T M16X1.5 6 04 32 | 345 18
T Q20191-16-05T M16X1.5 8 05 a3 | 4 19
( Q20191-16-06 M16X1.5 10 08 365| 43 22
P Q20191-18-06T M18X1.5 10 06 36.5 | 44.5 22
b Q20191-18-08 M18X1.5 13 08 435| 50 24
Q20191-22-08T M22X1.5 13 08 435| 52 27
Q20191-24-10 M24X1.5 16 10 55 | 56.5 30
0201 01-T Q20191-27-10T M27X1.5 16 10 55 | 54 32
L Q20191-30-12T M30X1.5 19 12 64 | 67 a6
il Q20191-39-16T M3gx2 25 16 74 | 72 46
v Q20191-4520T | Ma5x2 a2 20 915] 85 55
T, Q20191-52-24T M52X2 38 24 109 | 100 60

ﬁF e 1. FPRSHATFHESISE. 2, MBEHTHSRE S H020192-XX-XX.  Note:1.For use with

. 7] braided hoses. 2 If use with spiral hoses hose fitting series number is Q20192-X2{-X(.

(P
o

EHIRIBSCEE

Metric Female Flat Seat

Q20211 REF.GB/T 9065.3

1 e 8 SRAT 4§ HOSE BORE Jish DIMENSIONS
e PART NO. THREADT | £4#N4#DN | ++5 DASH L 51
. Q20211-14-04T M14X1.5 6 04 15.5 17
1 [ 5 Q20211-14-05 M14X1.5 8 05 15.5 19
! Q20211-16-05T M16X1.5 8 05 16.5 19
Q20211-16-06 M16X1.5 10 06 16.5 22

Q20211-18-06T M18X1.5 10 06 175 22
Q20211-22-08T M22X1.5 13 08 18.5 27

Q20211-27-10T M27X1.5 16 10 22 a2
Q20211-30-12T M30X1.5 19 12 21 36

Q20211-T Q20211-36-12T M36X2 19 12 21 41
Q20211-39-16T Magx2 25 16 235 46

st ¢+ Q20211-45-20T M45X2 32 20 24.5 55
] Q20211-52-24T Ms52X2 38 24 25 60
Fl L LTy Q20211-60-28T MBOX2 45 28 26 70
o Q20211-64-32T M64X2 51 32 27 75

1. HHRRESATHANE. 2. W TFESEERSP0Q0212-0XX.  Note!1.For use with

= braided hoses. 2.If use with spiral hoses,hose fitting series numberis Q20212-XX-XX.

@

HYDRAULICS

BHEZERERMEIRAE

CANGZHOU QC HYDRAULICS CO., LTD

<




gz HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

45"%"¢$IJ Pa?ﬁtsll@
45°Metric Female Flat Seat
020241 REF. GB/T 9065.3
5 e ¥ HOSE BORE J&+F DIMENSIONS
PART NO. THREAD T | 4% DN | §5% DASH L H S§1
Q20241-14-04T M14X1.5 6 04 37 | 135 17
Q20241-14-05 M14X1.5 [} 05 41 [ 175 19
Q20241-16-05T M16X1.5 8 05 42 | 185 19
Q20241-16-06 M16X1.5 10 06 45 | 19 22
Q20241-18-06T M18X1.5 10 06 46 | 20 22
Q20241-22-08T M22X1.5 13 08 53 [ 215 27
Q20241-27-10T M27X1.5 16 10 65 | 25.5 32
Q20241-30-12T M30X1.5 19 12 70 | 275 36
Q20241-39-16T M39%2 25 16 84 | 29.7 46
Q2 0241-T Q20241-45-20T M45X2 20 945| 24 55
. L Q20241-52-24T M52X2 38 24 10| # 60
Q20241-60-28T MBOX2 28 118.5| 43.6 70
il Q20241-64-32T MB4X2 51 32 128 | 455 75
T 1, BPRSHTHEFARE. 2. MFATHESPES M A020242-XX-XX.  Note:1.For use with
> braided hoses. 2.If use with spiral hoses hose fitting series number is Q20242-XX-XX.

i
>
©

90° ’fﬁ}ﬁ#l]m Fiﬁﬂsﬂzﬁ
90° Metric Female Flat Seat
Q20291 REF.GB/T 9065.3

: 5 VRErT % HOSE BORE J5f DIMENSIONS
PART NO. THREAD T AN 1EDN | Frt DASH I3 H St
f Q20291-14-04T M14X1.5 6 04 32 285 17
& Q20291-14-05 M14X1.5 8 05 33 [335 19
311\]_ Q20291-16-05T M16X1.5 -] 05 325| 35 18
— Q20291-16-06 M16X1.5 10 06 36.5 | 7 22
= Q20291-18-06T M18X1.5 10 06 36.5| 39 22
.. Q20291-22-08T M22X1.5 13 [o]:] 435|435 27
Q Q20291-27-10T M27X1.5 16 10 55 | 52 32
Q20291-30-12T M30X1.5 19 12 63 | 58 36
Q20291 _T Q20291-39-16T M39X2 25 16 74 |B8.5 46
L Q20291-45-20T M45X2 32 20 91.5 | 78.5 55
' Q20291-52-24T M52X2 38 24 109 | 92 60
/ Q20291-64-32T MB4X2 51 32 129 [113.3 75

T, [ 1 RS ATHRANE. 2. mfHTRERESE/020292-XX-XX.  Note:1.For use with
~E| braided hoses. 2.If use with spiral hoses,hose fitting series number is Q20292-X-XX.
L

T— "y-"
o

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<o



#rg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

EirAFI RN T4 HEE
Q20711 GB Metric Female 74°Cone Seat
REF.GB/T 9065.1
Lives e T 4% HOSE BORE J&5I DIMENSIONS
PART NO. THREAD T | A8 /A DN | fi's DASH L S1
Q20711-12-04 M12X1.5 6 04 14.5 17
Q20711-14-04T M14X1.5 6 04 15. 5 17
Q20711-14-05 M14X1.5 8 05 15. 5 19
Q20711-14-06 M14X1.5 10 06 156. 5 19
Q20711-16-04T M16X1.5 6 04 16.5 19
Q20711-16-05T M16X1.5 8 05 16. 5 19
Q20711-16-06 M16X1.5 10 06 16.5 22
Q20711-18-05T M18X1.5 8 05 18. 5 22
Q20711-18-06T M18X1.5 10 06 17.5 22
Q20711-20-06T M20X1.5 10 06 16 24
Q20711-22-08T M22X1.5 13 08 18. 5 27
Q20711-T Q20711-27-08T | M27X1.5 13 08 20.5 32
Q520711-27-10T | M27X1.5 16 10 21.5 32
51 L QSs20711-30-10T M30X1.5 16 10 21.5 36
Q520711-30-12T | M30X1.5 19 12 21.5 36
Q520711-33-12T M33X2 19 12 22 41
Q520711-36-12T M36X2 19 12 21 41
Q520711-36-14T M36X2 22 14 21 41
Q520711-36-16T M3BX2 25 16 22 41
QS20711-39-16T M3gx2 25 16 23.5 46
QS520711-42-16T M4zZX2 25 16 23.5 50
Q520711-45-20T M45X2 32 20 25 55
Q520711-52-24T M52X2 38 24 25 80

e 1. RPREFEATHRAWE. 2, WFEHTHSHENSHHQ20712-XX-XX.  Note:1.For use with

braided hoses. 2.1f use with spiral hoses,hose fitting series number is Q207 12-XX-XX.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<l



gz HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

AS EIRA R N7 4° N HEE

Q20741 45°GB Metric Female 74°Cone Seat

REF.GB/T 9065.1

s BT 7% HOSE BORE R+ DIMENSIONS

PART NO. THREAD T | %4#/{2DN | #:'% DASH L | H St

Q20741-12-04 M12X1.5 B 04 38 | 15 17

Q20741-14-04T | M14X1.5 6 04 39 | 16 17

Q20741-14-05 M14X1.5 8 05 43.5(19.5 19

Q20741-14-06 M14X1.5 10 06 46 | 20 19

Q20741-16-04T | M16X1.5 6 04 39 |[15.5 19

Q20741-16-05T | M16X1.5 8 05 42.5| 19 19

Q20741-16-06 M16X1.5 10 06 46.5(20.5 22

Q20741-18-05T | M18X1.5 B 05 44.5| 21 22

Q20741-18-06T | M18X1.5 10 06 47 | 23 22

Q20741-22-08T | M22X1.5 13 08 56.2|23.7 27

Q20741-T Q20741-27-08T | M27X1.5 13 08 56 |22.5 32

Q20741-27-10T | M27X1.5 16 10 63.5| 24 32

L Q20741-30-10T | MB30X1.5 16 10 67 | 27 36

Q20741-30-12T | M30X1.5 19 12 72.8(30.2 36

51 Q20741-33-12T M33X2 19 12 72 |29.5 41

T Q20741-36-12T M3sX2 19 12 69.5|26.5 41

» Q20741-36-14T M36X2 22 14 74 |28.4 41

X _ Q20741-36-16T M36X2 25 16 81 | 28 41

Q20741-39-16T M3ax2 25 16 82 |20.4 46

Q20741-45-20T M45X2 32 20 94.5|233.8 55

Q20741-52-24T M52X2 38 24 108 | 39 60

% 1 BRPREATHSEE. 2, WFEH THESHER B MN020742-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses hose fitting series numberis Q20742-XX-XX.

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

) °



weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

90" EfR L B IRGLT 4° (R
90°GB Metric Female 74°Cone Seat

Q20791 REF.GB/T 9065.1

L 5 BaT #5 HOSE BORE fs DIMENSIONS
PART NO. THREADT |A#iP44DN | #5755 DASH L|H S1
f Q20791-12-04 | M12X1.5 6 04 32 | 30 17
Q20791-14-04T M14X1.5 6 04 30 | a0 17
2 Q20791-14-05 M14X1.5 8 05 33 | 37 19
= Q20791-14-06 M14%1.5 10 06 36.5(38.5 19
L‘%— Q20791-16-04T M16X1.5 6 04 32 [32.5 19
Q20791-16-05T M16X1.5 B 05 33 | 36 19
/ Q20791-16-06 M16X1.5 10 06 36.5/39.5 22
¥ Tm Q20791-18-05T M18X1.5 8 05 33 |38.5 22
i Q20791-18-06T M18X1.5 10 06 36.5/40.5 22
g Q20791-22-08T M22X1.5 13 08 43.5|46.5 or
Q20791-27-08T M27X1.5 13 08 43.5/48.5 32
Q20791 -T Q20791-27-10T M27%1.5 16 10 55 | 53 32
Q20791-30-10T M30X1.5 16 10 55 | 54 36
Q20791-30-12T M30X1.5 19 12 64 | B2 36

Q20791-33-12T M33X2 19 12 84 | 61 41

3 Q20791-36-12T M36X2 19 12 64 | 57 41
[/ Q20791-36-14T M36X2 22 14 68.5| 63 41

51 Q20791-36-16T M386X2 25 16 74 | 64 41
[ Q20791-39-16T M38X2 25 16 74 | 66 46
T Q20791-45-20T M45X2 32 20 91.5|78.5 55
% Q20791-52-24T M52X2 38 24 100 | 92 60

PE 1, RPMRSAFHRSAEE. 2. % HEFESHERSHHN020792-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Q20792-XX-XX,

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



- gz HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

Q50011

o _tEIMD}

+EXEE
Metric Standpipe Straight
e §E 0 ¥ HOSE BORE J¢s} DIMENSIONS T

PART NO. TUBECD | AFAHEDN | f5+5 DASH L D L1 | NOTE
Q50011-06L-04 6 6 04 29.5 6 22
Q50011-10L-05 10 8 05 3 10 23
Q50011-10L-06 10 10 06 335 | 10 23
Q50011-12L-06 12 10 06 32 12 25
Q50011-12L-08 12 13 08 325 i2 25
Q50011-15-08 15 13 08 3556 | 15 25

Q50011-18-10 18 16 10 35 18 26 | &=

Q50011-22-10 22 16 10 38 22 28 (L}

Q50011-22-12 22 19 12 38 22 28
Q50011-22-16 22 25 16 39 22 28
Q50011-28-16 28 25 16 41 28 30
Q50011-35-20 35 32 20 56 35 36
Q50011-42-24 42 38 24 62 42 40
Q50011-085-04 8 6 04 31 8 24
Q50011-085-05 8 8 05 31 B 24
Q50011-085-06 8 10 06 31 8 24
Q50011-105-04 10 6 04 35 10 23
Q50011-125-04 12 6 04 33 12 25
Q50011-125-05 12 8 05 33 12 25
Q50011-14-05 14 8 05 39.5 | 14 29
Q50011-14-06 14 10 06 39.5 14 29

Q50011-14-08 14 13 08 40 | 14 29 | w#E¥

Q50011-16-08 16 13 08 41 16 30 (s

Q50011-16-10 16 16 10 42 16 30
Q50011-20-10 20 16 10 52.5 | 20 36
Q50011-20-12 20 19 12 52.5 | 20 36
Q50011-25-12 25 19 12 56 25 40
Q50011-25-16 25 25 16 57 25 40
Q50011-30-16 30 25 16 63 30 44
Q50011-30-20 30 3z 20 64 30 44
Q50011-38-16 a8 25 16 69 38 50
Q50011-38-20 38 32 20 70 38 50

1. BPRSHTRANE. 2. WA T A58E S HOhQ50012-XX-XX.
braided hoses. 2.If use with spiral hoses hose fitting series number is Q50012-XX-XX.

MNote: 1.For use with

@

HYDRAULICS

BNEZERERMEBRLF

CANGZHOU QC HYDRAULICS CO., LTD

<




weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

A5°ERHFELXEE
Q50041 45°Metric Standpipe Straight
s TR % HOSE BORE S DIMENSIONS B
) PART NO. TUBEO.D | Z#R DN | #55 DASH i H D L1 | NOTE
i Q50041-06L-04 6 6 04 52 30 6 22
- Q50041-10L-05 10 8 05 54 | 30.5 | 10 23
Q50041-10L-06 10 10 06 56 31 10 23
Q50041-12L-06 12 10 06 58.5 | 34 12 25
2 ~ Q50041-12L-08 12 13 08 73 37 12 25
Q50041-15-08 15 13 08 71 | 355 | 18 25
Q50041-18-10 18 16 10 85 | 39.5| 18 26 | g5
Q50041-22-10 22 16 10 87 42 22 28 w
Q50041-22-12 22 19 12 93.5 | 45.5 | 22 28
Q50041-22-16 22 25 16 101 | 465 | 22 28
Q50041-28-16 28 25 16 104 | 49.5 | 28 30
Q50041-35-20 35 32 20 119 | 57.5 | 35 36
Q50041-085-04 8 6 04 54 30 8 24
Q50041-085-05 8 8 05 56 32 8 24
Q50041-085-06 8 10 06 58 33 8 24
Q50041-10S-04 10 6 04 54 31 10 23
Q50041-125-04 12 [ 04 57 35 12 25
Q50041-125-05 12 8 05 59 | 35.5 i2 25
Q50041-14-05 14 8 05 61 37 14 29
Q50041-14-06 14 10 06 62 | 375 | 14 29
Q50041-14-08 14 13 08 74 | 385 | 14 29
Q50041-16-08 16 13 08 77 | 415 | 16 30 |mzH
Q50041-16-10 16 16 10 88 43 16 30 (s)
Q50041-20-10 20 18 10 93 48 20 36
Q50041-20-12 20 19 12 101 | 525 | 20 36
Q50041-25-12 25 19 12 102 | 54 25 40
Q50041-25-16 25 25 16 110 | 55 25 40
Q50041-30-16 30 25 16 114 | 59.5 | 30 44
Q50041-30-20 30 32 20 125 | 63.5 30 44
Q50041-38-16 38 25 16 119 | 635 | 38 50
Q50041-38-20 38 32 20 126 | 68 38 50
E: 1, ERRSATHRASE. 2, WHA TASHELS 8CHQ50042-X-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Q50042-XX-XX.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



HYDRAULIC HOSE FITTING "=

Swaged Hose Fitting

ac
MR
e
2

I BLFFELEE
Q50091 90°Metric Standpipe Straight
ft 5 BEiE 4 HOSE BORE < DIMENSIONS ik
PART NO. TUBE O.D | #:#7412DN | #7% DASH L H D L1 | NOTE
Q50091-06L-04 8 8 04 31 44 6 22
Q50091-10L-05 10 8 05 33 53 10 23
/ Q50091-10L-06 10 10 08 36.,5| 55 10 23
T Q50091-12L-06 12 10 06 36.5 60 15 25
Q50091-12L-08 12 13 08 435 | 67 12 25
Q50091-15-08 15 13 08 435 | 69 | 15 | 25 | BRI
| Q50091-18-10 18 16 10 55 73 18 26 L
2 Q50091-22-10 22 16 10 65 | 75 | 22 | 28
Q50091-22-12 22 19 12 64 86 22 28
4 f Q50091-22-16 22 25 16 74 91.5 22 28
{ Q50091-28-16 28 25 16 74 | 935 | 28 30
| Q50091-35-20 35 a2 20 91.5 [112.5| 35 356
Ll Q50091-085-04 8 6 04 30 | 48 | 8 | 24
Q50091-08S-05 8 8 05 33 55 8 24
Q50091-085-06 8 10 06 36,5 | 58 8 24
Q50091-10S-04 10 8 04 32 50 10 23
Q50091-125-04 12 ] 04 32 50 12 23
Q50091-125-05 12 8 05 33 60 12 23
Q50091-14-06 4 i0 06 38.5 63 14 29
Qs50091-14-08 14 13 08 43.5 69 14 29
Q50091-16-08 16 13 08 435 | 70 16 30 |EFA
Q50091-16-10 16 16 10 65 | 775 | 186 30 | (8
Q50091-20-10 20 16 10 65 | 83.5| 20 36
Q50091-20-12 20 19 12 64 | 95,5 | 20 38
Q50091-25-12 25 19 12 64 | 995 | 25 40
Q50091-25-16 25 25 16 74 |103.5| 25 40
Q50091-30-16 30 25 16 74 |108.5| 30 40
Q50091-20-20 30 32 20 91.5 | 120.5| 30 44
Q50091-38-16 38 25 16 74 |115.5| 38 50
Q50091-38-20 38 32 20 91.5 | 126.5| 38 50
i 1, BRASRATREEE. 2. WFEHTESEHEA S E0H050092-XX-XX.  Note:1.For use with
braided hoses. 2.1fuse with spiral hoses,hose fitting series numberis Q50092-XX-XX.

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

HEIMEN60° AR
Q12611 BSP Metric 60° Cone Seat -SO 12151-6
= AT k& HOSE BORE Fl5I DIMENSIONS
PART MO. THREADT | AFA4EDN | §i% DASH L 51
Q12611-04-04 G1/4"X19 6 04 24.5 14
S1L Q12611-06-05 G3/8"X19 8 05 27.5 17
]- B] Q12611-06-06 G3/8"X19 10 06 27.5 17
MWITTIT T | Q12611-06-08 G3/8"X19 13 08 26.5 19
i : 3 [Q12611-08-06 | G1/2'X14 10 06 30.5 22
Q12611-08-08 G1/2"X14 13 08 31 22
Q12611-10-08 G5/8"X14 13 08 32.5 24
Q12611-10-10 G5/8"X14 16 10 33.5 24
Q12611-12-08 G3/4"X14 13 08 35.5 27
Q12611-12-10 G3/4"X14 16 10 36.5 27
Q12611-12-12 G3/4"X14 19 12 36.5 27
Q12611-16-12 G1"X11 19 12 39.5 36
Q12611-16-16 G1"X11 25 16 41.5 36
Q12611-20-16 G1.1/4"X11 25 16 43.5 48
Q12611-20-20 G1.1/4"X11 32 20 44.5 46
Q12611-24-20 G1.1/2"X11 32 20 46 50
Q12611-24-24 G1.1/2"X11 38 24 46 50
Q12611-32-32 G2'X11 51 32 53.5 65

e 1. FTHRASH PHEEE. 2. oA FESERERSIONQ12612-XX-XX.  Note:1.For use with

raided hoses. 2.If use with spiral hoses, hose fitting series numberis Q12612-XX-XX.

HRESMBO60° R HEEa S AIREE S BT H A AL

Q12611A BSP Male Double Use For 60°Cone Seat Or Bonded Seal ISO 12151-6
me AT % HOSE BORE F+ DIMENSIONS

PART NO. THREADT | #F8p9fEDN | {55 DASH L S1

L Q12611A-04-04 G1/4"X19 6 04 25.5 19

51 Q12611A-06-05 GA3/8"X19 8 05 27.5 22
Q12611A-06-06 G3/8"X19 10 06 26 22

- Q12611A-06-08 G3/8"X19 13 08 28 22
. Q12611A-08-06 G1/2"X14 10 06 3z 27
Q12611A-08-08 G1/2"'X14 13 08 33 27

Q12611A-08-10 G1/2"X14 16 10 34 27

Q12611A-10-08 G5/8"X14 13 08 36 30

Q12611A-10-10 G5/8"X14 16 10 37 30

Q12611A-12-08 G3/4'X14 13 08 as 32

Q12611A-12-10 G3/4"X14 16 10 36 3z

Q12611A-12-12 G3/4"X14 19 12 a7 32

Q12611A-16-12 G1"X11 19 12 39 41

Q12611A-16-16 G1"X11 25 16 42 49

Q12611A-20-16 G1.1/4"X11 25 16 45 50

Q12611A-20-20 G1.1/4"%11 3z 20 45 50

Q12611A-24-20 G1.1/2°X11 32 20 46 55

M2611A-24-24 Gi.4/2"°X11 38 24 49 55

Q12611A-32-32 G2"X11 51 3z 54.5 70

e 1, BRREHATHASE. 2, nFHTHESEENSH0Q12612A-XX-XX.  Note:1.For use with
braided hoses. 2 If use with spiral hoses hose fitting series numberis Q12612A-X-XX.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



gz HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

HEREL60°/MEE
Q2261 1 BSP Female 60° Cone ISO 12151-6
=) BT #% HOSE BORE Rt DIMENSIONS
- L PART NO. THREAD T | AFM#DN | $iF DASH L st
T Q22611-02-04 G1/8 " X28 6 04 16 14
- 'qEﬂT Q22611-04-04 | G1/4" X19 6 04 19 19
m Q22611-04-05 G1/4" X19 8 05 19 19
Q22611-04-06 G1/4" X19 10 06 19 19
Q22611-06-04T | G3/8 " X19 6 04 18 22
Q22611-06-05T | G3/8" X19 8 05 19 22
Q22611-06-06 G3/8 " X19 10 06 19.5 22
Q22611-06-08 G3/8 " X19 13 08 20 22
Q22611-08-06T | G1/2" X14 10 06 20.5 27
Q22611-08-08 G1/2" X14 13 08 21.5 27
Q22611-10-08T | G5/8 " X14 13 08 22.5 30
Q22611-10-10 G5/8 " X14 16 10 23 30
Q22611-12-10T | G3/4 " X14 16 10 23 32
. 022611-12-12 G3/4 " X14 19 12 24 32
EL Q22611-16-12T G1" X11 19 12 24 41
(ST Q22611-16-16 G1" X11 25 16 26 41
- H Q22611-20-16T [G1.1/4 " X11 25 16 27.5 50
] b ] Q22611-20-20  [G1.1/4 " X11 32 20 30.5 50
. “f‘“ Q22611-24-20T _|G1.1/2 " X11 3z 20 32 55
QS22611-24-24  [G1.1/2" X11 38 24 31.5 55
0522611-32-24T | G2 " X11 38 24 33.5 70
Qs22611-32-32 G2 " X11 51 32 34 70

P 1. 2P UHHTHREHE. 2. W HETHSHE S 0hQR2612-KX-XX.  Note:1.For use with

braided hoses. 2. If use with spiral hoses hose fitting series numberis Q22612-XX-XX.

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

"



s HYDRAULIC HOSE FITTING 0=t

RE

Swaged Hose Fitting

51

81

Q22641

Y =

Q22641-T

45°HENIBE60 SNEE
45° BSP Female 60° Cone ISO 12151-6
g2 BT 4% HOSE BORE J&+ DIMENSIONS
PART NO. THREAD T | £Fip#DN | 55 DASH L H 51
| Q22641-02-04 G1/8"X28 6 04 38.8| 15 14
Q22641-04-04 G1/4"X19 6 04 388| 15 19
Q22641-04-05 G1/4"X19 B 05 41.7| 18 19
Q22641-04-06 G1/4"X19 10 06 45 | 19 19
Q22641-06-04T G3/8"X19 6 04 39.8| 16 22
Q22641-06-05T G3/8"X19 B 05 41.7] 18 22
Q22641-06-06 G3/8"X19 10 06 44 | 18 22
Q22641-06-08 G3/8"X19 13 08 54.3| 23 22
(Q22641-08-06T G1/2"X14 10 06 44 | 18 27
Q22641-08-08 G1/2"X14 13 08 51.3| 20 27
Q22641-10-08T G5/8"X14 13 08 543| 23 30
Q22641-10-10 G5/8"X14 16 10 B4.2| 25 30
Q22641-12-10T7 G3/4"X14 16 10 67.2| 28 32
Q22641-12-12 G3/4"X14 19 12 7.7| 29 32
Q22641-16-12T G1"X11 19 12 74.7| 32 41
Q22641-16-16 G1"X11 25 16 B44| 35 41
Q22641-20-16T G1.1/4"X11 25 16 88.4| 39 50
Q22641-20-20 G1.1/4"X11 32 20 100.8 40 50
Q22641-24-20T G1.1/2"X11 32 20 114.8| 54 55
Q22641-24-24 G1.1/2"X11 38 24 1211 50 55
2 Q22641-32-24T G2"X11 38 24 130.1| 59 70
/ Q22641-32-32 G2'X11 51 32 155 | 70 70
e 1. RPHSHATHARE. 2. WHERATHESHENSH09022642-XX-XX.  Note:1.Foruse with
braided hoses. 2.1f use with spiral hoses,hose fitting series numberis Q22642-XX-XX.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<




gz HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

90°ZHE A IRLE0° MR
Q22691 BSP Female 60° Cone ISO 12151-6
Liv5=3 BaT #¥ HOSE BORE S DIMENSIONS
PART NO. THREAD T | 4 #iN#DN | #:'%5 DASH L | H 81
Q22691-02-04 G1/8 " X28 6 04 32 | 27 14
7 Q22691-04-04 | G1/4"X19| 6 04 32 | 28 E
& Q22691-04-05 G1/4 " X19 8 05 32.5( 315 19
s_i? Q22691-04-06 G1/4" X189 10 06 36.5( 34 18
Q22691-06-04T G3/8 " X19 6 04 32 | 31 22
Q22691-06-05T G3/8 " X19 8 05 325( 34 22
Q22691-06-06 G3/8" X19 10 06 36.5| 34 22
Q22691-06-08 G3/8" X19 13 o8 445| 42 22
Q22691-08-06T G1/2" X14 10 06 36.5| 35 27
Q22691-08-08 Gi/2" X14 13 08 445( 41 27
Q22691-10-08T G5/8 " X14 13 08 44 5| 45 30
Q22691-10-10 G5/B " X14 16 10 85 | 51 30
Q22691-12-10T G3/4" X14 16 10 55 | 56 32
Q22691-12-12 G3/4 " X14 19 12 62 | 58 32
Q22691-16-12T G1 " X11 19 12 62 | 62 41
Q22691-16-16 G1" X1 25 16 74 | 70 41
Q22691-20-16T |G1.1/4 " X11 25 16 74 | 76 50
Q22691-20-20 G1.1/4 " X11 32 20 91.5| 85 50
Q22691-24-20T |G1.1/2" X141 32 20 91.5| 92 55
Q22691-24-24  |G1.1/2" X11 3s 24 108 | 100 55
Q22691-32-24T G2 " Xi1 38 24 108 | 110 70
Q22691-32-32 G2 " X11 51 3z 133.8/ 140 70
/ e 1. RPRGATHEAKE. 2. WA TA %% EAS M 5022692-XX-XX.  Note:1.For usewith
' braided hoses. 2.Ifuse with spiral hoses, hose fitting series numberis Q22692-XX-XX.

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<l



#rg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

i

 Fam

r—T

EHERNBO0HMEEEORE

51

Q22611-0OR BSP Female 60°0-Ring Cone ISO 12151-6
&5 iReT #i’% HOSE BORE F5 DIMENSIONS
L PART NO. THREAD T | AFAF#ON | $55 DASH L 51
Q22611-02-040R | G1/8" X28 6 04 15 14
Q22611-04-040R | G1/4" X19 6 04 19 19
Q22611-04-050R | G1/4" X198 8 05 19 19
Q22611-04-060R | G1/4 " X189 10 06 19 19
Q22611-06-040RT | G3/8" X19 6 04 18 22
Q22611-06-050RT | G3/8" X19 8 05 19 22
Q22611-06-060R | G3/8" X19 10 06 19.5 22
Q22611-06-080R | G3/8" X19 13 08 20 22
Q22611-08-060RT | G1/2" X14 10 06 21 27
Q22611-08-080R | G1/2"X14 13 08 21.5 27
Q22611-10-080RT | G5/8" X14 13 08 21.5 30
Q226"| 1 _ORT Q22611-10-100R | G5/8" X14 16 10 23 30
Q22611-12-100RT | G3/4" X14 16 10 23 32
Q22611-12-120R | G3/4" X14 19 12 24 32
t Q22611-16-120RT | G1 ' X11 19 12 25 41
I ) 022611-16-160R G1"X11 25 16 27 41
Q22611-20-160RT | G1.1/4 " X11 25 16 28.5 50
Q22611-20-200R [G1.1/4 " X11 32 20 30.5 50
Q22611-24-200RT | G1.1/2 " X11 32 20 32 55
Q22611-24-240R [G1.1/2 " X11 38 24 31.5 55
Q22611-32-240RT| G2" X11 38 24 335 70
022611-32-320R G2 " X11 51 3z 34 70

e 1, BPUEATEHSARE. 2, FTATESEHENSHH022612-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses hose fitting series numberis Q22612-XX-XX.

@

HYDRAULICS

BHEZERERMEIRAE

CANGZHOU QC HYDRAULICS CO., LTD

<



gz HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

A4S EERIRN60° /MERTHORE
Q2264‘] -O R 45°BSP Female 60°0-Ring Cone ISO 12151-6
HE BRET % HOSE BORE ) DIMENSIONS
L PART NO. THREAD T | & #/442DN | #7%5 DASH L | H S1
1 Q22641-02-040R | G1/8" X28 6 04 388| 15 14
51 M:M Q22641-04-040R | G1/4" X19 6 04 388| 15 19
yfl Q22641-04-050R | G1/4" X19 8 05 417| 18 19
2 Q22641-04-060R | G1/4" X19 10 06 45 | 19 19
Q22641-06-040RT| G3/8" X19 6 04 39.8| 16 22
Q22641-06-050RT| G3/8 " X19 8 05 41.7| 18 22
Q22641-06-060R | G3/8" X19 10 06 44 | 18 22
Q22641-06-080R | G3/8" X19 13 os8 543 23 22
Q22641-08-060RT| G1/2" X14 10 06 44 | 18 27
Q22641-08-080R | G1/2" X14 13 08 51.3| 20 27
Q22641-10-080RT| G5/8 " X14 13 08 54.3| 23 30
Q22641-10-100R [ G5/8 " X14 16 10 64.2| 25 30
Q22641-ORT  [q22641-12-100RT| G3/4 " x14 16 10 67.2| 28 32
Q22641-12-120R | G3/4" X14 19 12 71.7| 29 32
Q22641-16-120RT| G1" Xi1 19 12 74.7| 32 41
Q22641-16-160R | G1" X11 25 16 844| 35 41
g Q22641-20-160RT|G1.1/4 " X11 25 16 88.4| 39 50
f T Q22641-20-200R |G1.1/4" X11 32 20 100.8| 40 50
» Q22641-24-200RT[G1.1/2 " X11 az 20 114.8| 54 55
Q26411-24-240R [G1.1/2 " X11 38 24 121.1] 50 55
Q22641-32-240RT| G2" X11 38 24 130.1) 59 70
Q22641-32-320R | G2"X11 51 32 155 | 70 70

e 1. BPRSHTHRAEE. 2. A TE%9CE {050 HQ22642-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series numberis Q22642-XX-XX.

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

°



weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

Q22691-OR 90° B IRM60° I MER ORI E
- 90°BSP Female 60°0-Ring Cone ISO 12151-6
®5 BT 4 HOSE BORE J&+) DIMENSIONS
PART NO. THREAD T | 2&FFMiEDN | #55 DASH L | H| sl
o — Q22691-02-040R | G1/8" X28 6 04 32 | 27 | 14
/ Q22691-04-040R | G1/4 "X19 6 04 32 | 28 | 19
= Q22691-04-050R | G1/4 " X19 8 05 325|315| 19
51 Q22691-04-060R | G1/4 "X19 10 06 365 34 | 19
L‘-T-;- Q22691-06-040RT| G3/8" X19 6 04 32 | 31 | 22
- » | Q22691-06-050RT| G3/8 " X19 8 05 325 34 | 22
f-.-. Q22691-06-060R | G3/8 " X19 10 06 365| 34 | 22
Q22691-06-080R | G3/8 " X19 13 08 445| 42 | 22
Q22691-08-060RT| G1/2 " X14 10 06 36.5| 35 | 27
Q22691-08-080R | G1/2 " X14 13 08 445| 41 | 27
Q22691-10-080RT| G5/8 " X14 13 08 445 | 45 | 30
022691 _O RT Q22691-10-100R | G5/8 " X14 16 10 g5 51 30
Q22691-12-100RT| G3/4 " X14 16 10 55 | 56 | 32
L Q22691-12-120R | G3/4 " X14 19 12 62 | 58 | 32
Q22691-16-120RT| G1 " X11 19 12 62 | 82 | 41
'/ Q22691-16-160R | G1" X11 25 16 73 | 70 | a1
zlgy ﬁ Q22691-20-160RT|G1.1/4 " X11 25 16 74 | 76 | 50
> Q22691-20-200R |G1.1/4 " X11 32 20 915| 85 | 50
p Q22691-24-200RT|G1.1/2 " X11 3z 20 915| 92 | 55
Tl , | Q22691-24-240R [G1.1/2" X11 38 24 108 | 100 | 55
e | Q22691-32-240RT| G2 " X11 38 24 108 | 110 | 70
/ Q22691-32-320R | G2" X11 51 32 133.8| 140 | 70
P 1, #PRSHFRARE. 2. WHAFHREE NS HNA22692-XX-XX.  Note:1.For use with
9 braided hoses. 2.If use with spiral hoses hose fitting series number is Q22692-XX-XX.

ﬂqﬁﬁh
P—-—

Q22611D

L

RENRNC0°IMERH

BSP Female 60° Cone Double Hexangon ISO 12151-6

15 gar #¥ HOSE BORE JLl DIMENSIONS
PART NO. THREAD T | Z:#/1{#DN | #7% DASH L | s1] 82
Q22611D-04-04 | G1/4 " X19 6 04 23.5 19| 19
Q22611D-06-06 | G3/8 " X19 10 06 26.5| 22 | 22
Q22611D-08-08 | G1/2" X14 13 08 31 | 27| 27
Q22611D-10-08 | G5/8 " X14 13 08 32 | 30| 30
Q22611D-12-08 | G3/4 " Xi4 13 08 33 | 32| 32
Q22611D-12-12 | G3/4 " X14 18 12 34 | 32| 32
Q22611D-16-16 G1 " X11 25 16 35.5| 41| #
Q22611D-20-20 |G1.1/4 = X11 32 20 43.5| 50 | 50

e 1. RAVUS AT RAE . 2. T 9ESEUE U B QR26812D-XX-XX.

braided hoses. 2.If use with spiral hoses hose fitting series numberis Q22612D-XX-XX.

Note:1.For use with

@

HYDRAULICS

BHEZERERMEIRAE

CANGZHOU QC HYDRAULICS CO., LTD

<




gz HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

HWERBRL60°/MEmISA
Q2261 1D-SM BSP Female 60° Cone Double Hexangon ISO 12151-6
o5 gar % HOSE BORE Ji< DIMENSIONS
< L PART NO. THREADT | A#5p942DN | 455 DASH L | s1]s2
- 5! Q22611D-04-045M| G1/4 " X19 B 04 23 | 14 | 19
- H} Eﬁ"‘f Q22611D-06-065M| G3/8 " X19 10 06 25 | 17 | 22
L e Q22611D-08-085M| G1/2 " X14 13 08 28.5| 22 | 27
Q22611D-10-085M| G5/8 " X14 13 08 30 | 22 | 30
Q22611D-12-085M| G3/4 " X14 13 08 31.5| 27 | 32
Q22611D-12-125M| G3/4 " X14 19 12 32.5| 27 | 32
Q22611D-16-165M| G1" X11 25 16 36.3| 32 | 41
022611D-20-205M| G1.1/4 " X11 32 20 41.5| 41 | 50
1. BPUSHT@MARE, 2, OFH TaEREE S0 NQ22612D-XX-XXSM, Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series numberis Q22612D-XX-XXSM.

90°KEIT S AIRL60°IMEE
Q22691K 90°BSP Compact Female 60° Cone
& L AV BaT % HOSE BORE Ji+ DIMENSIONS
ot PART NO. THREADT | LFRA{EDN | #7% DASH L|H|S1|Ss2
WY [Q22691K-04-04 | G1/4" X19 6 04 17.5| 22 | 14 | 19
il I | Q22691K-06-04 | G3/8" X19 B 04 20 | 24 | 16 | 22
52 Q22691K-06-05 | G3/8 " X19 8 05 20 | 24 | 16 | 22
L Q22691K-06-06 | G3/8 " X19 10 06 20 | 24 | 16 | 22
T Q22691K-08-06 G1/2" X14 10 06 23 |26.5| 19 27
7 Q22691K-08-08 | G1/2" X14 13 08 235(285] 19 | 27
' Q22691K-10-10 | G5/8 “ X14 16 10 25 |20.5| 22 | 30
. Q22691K-12-12 | G3/4" X14 19 12 27.5| 33 | 27 | 32
4 QS22691K-16-16 | G1"X11 25 16 32.5(38.1| 33 | 41

@ BNEEREENERAD

CANGZHOU QC HYDRAULICS CO., LTD

<

HYDRAULICS



#rg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

SaHEE MRS
Q13011 BSPT Male
& IBaT % HOSE BORE s DIMENSIONS
PART NO. THREAD T | 4FM#DN | #+5 DASH L S1
i Q13011-02-04 R1/8"X28 8 04 18.5 12
L Q13011-04-04 R1/4°X19 8 04 21 7
ﬂmm Q13011-04-05 R1/4"X19 8 05 21 17
'M — Q13011-04-06 R1/4"X19 10 06 21 17
A Q13011-06-04 R3/8°X19 6 04 21.1 17
L Q13011-06-05 R3/8°X19 8 05 211 17
Q13011-06-06 R3/8°X19 10 06 21.1 17
Q13011-06-08 R3/8"X19 13 08 23.6 19
Q13011-08-06 R1/2"X14 10 06 26.3 22
Q13011-08-08 R1/2°X14 13 08 26.8 22
Q13011-08-10 R1/2°X14 16 10 26.8 22
Q13011-08-12 R1/2°X14 19 12 29.8 27
Q13011-12-08 R3/4°X14 13 08 27.5 27
0Q13011-12-10 R3/4°X14 16 10 28.5 27
Q13011-12-12 R3/4°X14 19 12 29.3 27
Q13011-12-16 R3/4°X14 25 16 30 32
Q13011-16-12 R1"X11 19 12 35.1 36
0Q13011-16-16 R1"X11 25 18 36.1 36
Q13011-20-20 R1.1/4"X11 32 20 36.8 46
Q13011-24-24 R1.1/2"X11 38 24 38.8 50
Q13011-32-24 R2"X11 38 24 421 65
Q13011-32-32 R2"X11 51 3z 421 65
1. BPRESHATEARE. 2. WFHHTESERE S BONA13012-XX-XX.
Note:1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series numberis Q13012-XX-XX.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



Q22111

s#s.  HYDRAULIC HOSE FAITTING ==

RE

Swaged Hose Fitting

Q22111-T

L

51

HE AR ERE

BSP Female Multiseal

5 W % HOSE BORE Jist DIMENSIONS

PART NO. THREADT | #:#RA{ZDN | #5'5 DASH L s1
Q22111-02-04 G1/8"X28 6 04 17.5 14
Q22111-04-04 G1/4"X19 6 04 19.5 19
Q22111-06-05T G3/8"%X19 8 05 20 22
Q22111-06-06 G3/8"X19 10 06 20.5 22
Q22111-06-08 G3/8"X19 13 08 21 22
Q22111-08-06T G1/2"X14 10 06 23 27
Q22111-08-08 G1/2"X14 13 08 24 27
022111-08-10 G1/2"X14 16 10 24.5 27
Q22111-10-08T G5/8"X14 13 08 24 30
Q22111-10-10 G5/8"X14 16 10 25 30
Q22111-10-12 G5/8"X14 19 12 25 30
Q22111-12-10T G3/4"X14 16 10 26 32
Q22111-12-12 G3/4"X14 19 12 26 32
022111-16-12T G1"X11 19 12 27 4
022111-16-16 G1"X11 25 16 28 41
Q22111-20-16T | G1.1/4"X11 25 16 28 50
022111-20-20 G1.1/4"%11 32 20 31.5 50
Q22111-24-20T | G1.1/2"X11 32 20 33 55
Q22111-24-24 G1.1/2"%11 38 24 33 55
Q22111-32-24T G2"%11 38 24 35 70
Q22111-32-32 G2"X11 51 32 35 70

Ee . BPEHATRIARE. 2. nfEHFasREE S E0iaR2112-XX-XX.

Note:1.For use with

braided hoses. 2 If use with spiral hoses, hose fitting series number is Q22112-XX-XX.

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<




weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

Q22141 45 HERRGEE
45°BSP Female Multiseal
e R #§ HOSE BORE JsF DIMENSIONS
L PART NO. THREADT |&#N#DN | #5% DASH L H 51
g : Q22141-02-04 G1/8 " X28 6 04 43 [21.6 14
81 KI Q22141-04-04 G1/4 " X19 6 04 43 |21.6 19
2 p7 Q22141-06-05T G3/8 " X19 B 05 46 |22.9 22
Q22141-06-06 G3/8" X19 10 08 50 (23.9 22
Q22141-06-08 G3/g " X19 i3 08 58 |25.5 22
Q22141-08-06T Gi1/2" X14 10 06 51 | 25 27
- Q22141-08-08 G1/2" X14 13 08 61 |26.8 27
Q22141-08-10 G1/2" X14 16 10 68 | 28 27
Q22141-10-08T G5/8" X14 13 08 60 (27.5 30
Q22141-10-10 G5/8" X14 16 10 68.528. 8 30
Q22141-T Q22141-10-12 G5/8 " X14 19 12 74.5| 32 30
Q22141-12-10T G3/4 " X14 16 10 67 | 27 32
. = Q22141-12-12 G3/4" X14 19 12 76 |33.7 32
. Q22141-16-12T G1"X11 19 12 81.8| 33 41
% f = Q22141-16-16 G1" X1 25 16 88 [35.1 41
S o Q22141-20-16T G1.1/4" X141 25 16 89.5/36.5 50
Q22141-20-20 G1.1/4 " X11 32 20 101.5/40. 8 50
Q22141-24-20T G1.1/2" X11 32 20 104 | 43 55
Q22141-24-24 G1.1/2" X11 38 24 117.548. 2 55
Q22141-32-24T G2" X11 38 24 120 | 51 70
Q22141-32-32 G2 " X11 51 32 138 | 57 70
i 1. RPNSHTRASE . 2. M H TESMESE08022142-X-XXRW.  Note:1.For use with
braided hoses. 2.Ifuse with spiral hoses,hose fitting series numberis Q22142-XX-XXRW.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



#rg#zsk HYDRAULIC HOSE FITTING ‘0E=

Swaged Hose Fitting

90° R E IR IRE
Q221 91 90°BSP Female Multiseal
L 5 g i HOSE BORE SL5F DIMENSIONS
PART NO. THREADT | A% A4EDN | 7% DASH L H 81
'/ Q22191-02-04 G1/8 " X28 6 04 30.5| 33 14
[ Q22191-04-04 G1/4" X19 6 04 30.5| 37 19
Q22191-06-05T G3/8" X19 8 05 33 |41.5 22
Q22191-06-06 G3/8" X19 10 06 36.5|43.5 22
Q22191-06-08 G3/8" X19 13 08 43,5 49 22
Q22191-08-06T G1/2" X14 10 06 36.5| 46 27
Q22191-08-08 Gi1/2" X14 13 08 43.5(51.5 27
Q22191-08-10 G1/2" X14 16 10 55 | 56 27
Q22191-10-08T G5/8" X14 13 08 43.5| 52 30
Q22191-10-10 G5/8" X14 16 10 55 |56.5 30
Q22191-10-12 G5/8" X14 19 12 64 |64.5 30
Q22191-12-10T G3/4" X14 186 10 55 |58.5 32
Q22191-12-12 G3/4" X14 18 12 63 |66.5 32
Q22191-16-12T G1 " X11 18 12 63 |67.5 41
Q22191-16-16 G1" X1 25 16 74 |74.5 41
Q22191-20-16T G1.1/4 " X11 25 16 74 |76.5 50
Q22191-20-20 G1.1/4 " X11 32 20 91.5| 89 50
Q22191-24-20T G1.1/2" X11 32 20 91.592.5 55
Q22191-24-24 G1.1/2" X11 38 24 109 | 106 55
Q22191-32-24T G2 " X11 38 24 109 | 105 70
Q22191-32-32 G2 " X11 51 32 129 [125. 5 70
e 1. RS ETREEE. 2. MEETHSEENLESIHQ22192-00(-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is Q22192-XX-XX.

HAEAF AR 60° A

JIS Metric Female 60° Cone Seat

s WEELT 4% HOSE BORE Fs1 DIMENSIONS
PART NO. THREAD T |2# M DN | f7'5 DASH L 51 | 82
Q28611-12-04 M12X1.5 6 04 20.5| 17 | 17
Q28611-14-04 M14X1.5 (5] 04 21 19 | 18
Q28611-14-06 M14X1.5 10 06 21 19 | 18
Q28611-16-04 M16X1.5 6 04 24 | 22 | 22
Q28611-16-05 M16X1.5 8 05 24 | 22 | 22
Q28611-16-06 M16X1.5 10 06 24 | 22 | 22
Q28611-18-06 M18X1.5 10 06 25 | 24 | 24
Q28611-18-08 M18X1.5 13 08 25.5| 24 | 24
Q28611-20-08 M20X1.5 13 08 28.5| 27 | 27
Q28611-22-08 M22X1.5 13 08 25.5| 27 | 27
Q28611-24-08 M24X1.5 13 08 28 | 32 | 32
Q28611-24-10 M24X1.5 16 10 28.5| 32 | 32
Q28611-27-10 M27X1.5 16 10 28.5| 32 | 32
Q28611-30-12 M30X1.5 19 12 28B.5| 36 | 36
Q28611-33-12 M33X1.5 19 12 31| 41| #H
Q28611-33-16 M33X1.56 25 16 32 | 41 | 41
Q28611-36-20 M36X1.5 32 20 35.5| 46 | 46

1 ZPRERATHRARE. 2. WH A THSRE N Soha2es12-XX-XX.  Note:1.For use with
braided hoses. 2.1f use with spiral hoses hose fitting series numberis CQ28612-XX-XX.

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

B 24l P IREI60° P HETHE]
Q2851 1 G M JIS Metric Female 60°Cone Seat
5 e 4 HOSE BORE 5 DIMENSIONS
PART NO. THREAD T | &#%PfEDN | #7%5 DASH L 51
Q28611GM-12-04 | M12X1.5 6 04 20 17
51 L Q28611GM-14-04 | M14X1.5 6 04 21 19
'Eﬂ_[ Q28611GM-14-06 | M14X1.5 10 06 21 19
7 Q28611GM-16-04 | M16X1.5 6 04 24 22
Q28611GM-16-05 | M16X1.5 8 05 24 22
Q28611GM-16-06 M16X1.5 10 06 24 22
Q28611GM-18-06 | M1BX1.5 10 06 25 24
Q28611GM-18-08 | M1BX1.5 13 08 24.5 24
Q28611GM-20-08 | M20X1.5 13 08 28.5 27
Q28611GM-22-08 | M22X1.5 13 08 255 27
Q28611GM-24-08 | M24X1.5 13 08 27.5 32
Q28611GM-24-10 M24X%1.5 18 10 28.5 32
Q28611GM-27-10 | M27X1.5 16 10 28.5 32
Q28611GM-30-12 M30X1.5 19 12 28.5 36
Q28611GM-33-12 | M33X1.5 19 12 31 41
Q28611GM-33-16 M33X1.5 25 16 32 41
Q28611GM-36-20 | M36X1.5 32 20 35.5 46
iE: 1. FPRSHTHRAEE. 2. WEH FESHERSHA028612GM-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series number is Q28612GM-XX-XX.

45°H AR A HIARE60° AHEE

028641 45°J1S Metric Female 60°Cone Seat
%5 BT 4% HOSE BORE Jist DIMENSIONS
PART NO. THREAD T | AfWfDN | ¥5%5 DASH L H | 81| sz
Q28641-12-04 M12X1.5 6 04 42.5| 19 | 17 | 17
Q28641-14-04 M14X1.5 6 04 425 19 | 19 | 19
Q28641-14-06 M14X1.5 10 06 49 | 23 | 19 | 19
Q28641-16-04 M16X1.5 5] 04 45 (215 22 | 22
Q28641-16-05 M16X1.5 8 D5 49 |255| 22 | 22
Q28641-16-06 M16X1.5 10 06 515|255 22 | 22
Q28641-18-06 M18X1.5 10 06 52 | 26 | 24 | 24
Q28641-18-08 M18X1.5 13 08 61 |28.5| 24 | 24
Q28641-22-08 M22X1.5 13 08 61 (2B.5| 27 | 27
Q28641-24-08 M24X1.5 13 08 82.5| 30 | 32 | 32
Q28641-24-10 M24X1.5 16 10 71 | 31 | 32 | 32
Q28641-30-12 M30X1.5 19 12 77 | 34 | 36 | 386
Q28641-33-12 M33X1.5 19 12 78.5| 36 | 41 | 41
Q28641-33-16 M33X1.5 25 16 90 | 37 | 41 | #1
Q28641-36-20 M36X1.5 32 20 104 |43.5| 46 | 46

o1, RS R THRERE. 2. WHR TASHEUS 0e028642-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses, hose fitling series numberis Q28642-XX-XX.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



HYDRAULIC HOSE FITTING "=

Swaged Hose Fitting

ac
MR
e
2

90° HE L FI R 0° R
Q28691 90°JIS Metric Female 60°Cone Seat
s WaT % HOSE BORE Fisf DIMENSIONS

¢ PART NO. THREAD T oo BRI FEDN Fr's DASH L H | S1 ]| 82
1 Q28691-12-04 M12X1.5 8 04 30 |29.5| 17 | 17
Q28691-14-04 M14X1.5 6 04 30 | 30 | 19 | 19
i / Q28691-14-06 M14X1.5 10 06 36.5| 28 | 19 | 19
= Q28691-16-04 M16X1.5 8 04 30 | 28 | 22 | 22
52 Q28691-16-05 M16X1.5 ] 05 36.5 |37.5| 22 | 22
L Q28691-16-06 M16X1.5 10 06 36.5| 39 | 22 | 22
T Q28691-18-06 M18X1.5 10 06 36.5| 41 | 24 | 24
Q28691-18-08 M18X1.5 13 08 43.5 |46.5| 24 | 24
Q28691-22-08 M22X1.5 13 08 43.5| 47 | 27 | 27
28681-24-08 M24X1.5 13 08 43.5|48.5| 32 | 32
Q28691-24-10 M24X1.5 16 10 55 | 53 | 32 | 32
Q28691-30-12 M30X1.5 19 12 64 | 62 | 36 | 36
Q28691-33-12 M33X1.5 19 12 64 | 70 | 41 | 41
Q28691-33-16 M33x1.5 25 16 74 | 77 | 41 | a1
Q28691-36-20 M36X1.5 32 20 91.5| 92 | 46 | 46

P 1. BPRNESH THEANE. 2, WHAHTESEE L S0090Q28692-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series number is Q28692-XX-XX.

B A5 R ER60° R
Q29611 JIS GAS Female 60°Cone Seat JIS B8363
= BT % HOSE BORE J5F DIMENSIONS

PART NO. THREAD T | 4 ###DN | bi's DASH L S1 | S2
@ e Q29611-04-04 | G1/4 " X19 6 04 21 19 | 19
Q29611-04-05 | G1/4" X19 8 05 21 19 | 19
- Q29611-06-04 | G3/8" X19 6 04 235 22 | 22
Q29611-06-06 | Ga/8 " X19 10 06 23 22 | 22
Q29611-08-06 | G1/2" X14 10 06 26 27 | 27
Q29611-08-08 | G1/2* X14 13 08 26.5 27 | 27
Q29611-10-10 | G5/8 " X14 16 10 31 30 | 30
Q29611-12-10 | G3/4 " X14 16 10 315 32 | 32
Q29611-12-12 | G3/4 " X14 19 12 31.5 32 | 32
Q29611-16-16 G1" X1 25 16 32 41 | 41

1, BPRESAFHREEE. 2. 0FHFESHERSE0H029812-X6-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses,hose fitting series number Is Q29612-XX-XX.

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<l



weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

45°HAEFI RBER60° EE
Q29641 45° ]IS GAS Female 60°Cone Seat JIS B8363
e EAT % HOSE BORE FiF DIMENSIONS
PART NO. THREADT | &FkM{EDN | 45 DASH L H S1 | §2
Q29641-04-04 G1/4" X19 6 04 425/19.5| 19 | 19
Q29641-04-05 G1/4" %19 8 05 47 | 23 | 19 | 19
Q29641-06-04 G3/8" X19 6 04 445| 21 | 22 | 22
Q29641-06-06 G3/8 " %19 10 06 51 | 25 | 22 | 22
Q29641-08-06 G1/2 " X14 10 06 53 | 27 | 27 | 27
Q29641-08-08 Gi/2 " Xi4 13 08 61.5| 29 | 27 | 27
Q29641-10-10 G5/8" X14 16 10 72.5(32.5| 30 | 30
Q29641-12-10 G374 " X14 16 10 725| 33 | 32 | 32
Q29641-12-12 G3/4" %14 19 12 79 | 36 | 32 | 32
Q29641-16-16 G1"X11 25 16 90 | 37 | 41 | 41
i 1, RPRSHETHEANE. 2. WHEATESHERSHN029642-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Q29642-XX-XX.

90° A HIPIRW60° N E

Q29691 90°JIS GAS Female 60°Cone Seat JIS B8363

= EET ¥ E HOSE BORE F&s DIMENSIONS

L PART NO. THREAD T | ##A4EDN | 5 DASH L H 81| 82

Q29691-04-04 G1/4 " X19 6 04 305| 36 19 19

/ Q29691-04-05 G1/4 " X19 8 05 33 | 395| 19 19

= ] 29691-06-04 G3/8 " X19 6 04 305 | 37 22 22

- Q29691-06-06 G3/8 " X19 10 06 365| 44 | 22 | 22

= Q29691-08-06 G1/2" X14 10 (03] 36.5| 46 27 27

T Q29691-08-08 Gi1/2" X14 13 08 44 |8515| 27 | 27

= » Q29691-10-10 G58 " X14 16 10 55 59 30 30

/ 0Q29691-12-10 G3/4 " X14 16 10 Bs | K75 | 32 32

Q29691-12-12 G3/4 " X14 19 12 B3 | B55| 32 a2

h Q29691-16-16 G1"X11 25 16 74 | 745 41 41
e #: 1. EPRSETHALE. 2, FHTESHEHSNCNG29692-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses hose fitting series numberis Q29692-XX-XX.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



ac
MR
e
>F£

HYDRAULIC HOSE FITTING "=

Swaged Hose Fitting

Q15611

Q15611SW

ToHEESMELL
NPT Male -SAE J516

s T % HOSE BORE AR5 DIMENSIONS

PART NO. THREAD T | 44 #%79%2DN | 55 DASH £ 51
Q15611-02-04 NPT1/8" X27 8 04 18.5 12
Q15611-04-D4 NPT1/4" X18 6 04 225 17
Q15611-04-05 NPT1/4* X18 8 05 22,5 17
Q15611-04-06 NPT1/4" X18 10 06 225 17
Q15611-06-04 NPT3/8" X18 6 04 23 19
Q15611-06-05 NPT3/8" X18 8 05 23.5 19
Q15611-06-06 NPT3/8" X18 10 06 23.9 19
Q15611-06-08 NPT3/8" X18 13 08 24.4 19
Q15611-08-06 NPT1/2* X14 10 06 265 22
Q15611-08-08 NPT1/2" X14 13 08 265 22
Q15611-08-10 NPT1/2" X14 16 10 28 22
Q15611-12-08 NPT3/4" X14 13 08 29 27
Q15611-12-10 NPT3/4" X14 16 10 295 27
Q15611-12-12 NPT3/4" X14 19 12 30 27
Q15611-12-16 NPT3/4" X14 25 16 31 32
Q15611-16-10 NPT1" X11.5 16 10 335 36
Q15611-16-12 NPT1"X11.5 19 12 34 36
Q15611-16-16 NPT1" X115 25 16 35 36
Q15611-20-16 NPT1.1/4" X11.5 25 16 375 46
Q15611-20-20 NPT1.1/4" X115 32 20 385 46
Q15611-24-24 NPT1.1/2°%X115| 38 24 40.5 50
Q15611-32-32 NPT2" X115 51 32 43.5 65

i 1. BRRGHTHRARE. 2. W AT EZREE 5 HQI5812-XX-XX.
braided hoses. 2.If use with spiral hoses hose fitling series numberis Q15612-XX-XX.

Note:1.For use with

R EIER MR
NPT Swivel Male

5 g 3 HOSE BORE /i) DIMENSIONS

PART NO. THREADT | 2#:/4{2DN | 45 DASH 1 51
Q156115W-04-04 |NPT1/4 " X18 6 04 473 19
Q15611SW-06-06 | NPT3/8 " X18 10 06 54 22
Q15611SW-08-08 | NPT1/2 " X14 13 08 64 27
Q15611SW-12-12 | NPT3/4 " X14 19 12 68.5 32

@

HYDRAULICS

BNEZERERMEBRLF

CANGZHOU QC HYDRAULICS CO., LTD

<




weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

90° i E IR MRY
Q1 5691 KSW 90°NPT Swivel Male
51 Lo s BET ¥4 HOSE BORE Jis DIMENSIONS
PART NO . THREAD T |AFRM%EDN | #75 DASH L H | 51 | g2
Q15691KSW-04-04 | NPT1/4 " X18 6 04 25 |59.5| 16 | 19
Q15691KSW-06-06 | NPT3/8 " X18 10 06 25 |64.5| 16 | 22
Q15691KSW-08-08 | NPT1/2 " X14 13 08 28.5|71.5| 19 | 27
Q15691KSW-12-12 | NPT3/4 " X14 19 12 36 |76.9| 27 | 32
SEHIORFSIMRGEFHOR B & H
Q‘[ 421 1 ORFS Male O-Ring Seal ISO12151-1 -SAE J1453
(5 [ Tal #CE HOSE BORE JZ<} DIMENSIONS
PART NO. THREADT | AFrM#EON | 55 DASH L s1
51 Q14211-04-04 9/16 " X18 6 04 225 17
Q14211-06-04 11/18 " X186 6 04 24 19
Q14211-06-06 11/16 " X16 10 06 24 19
= ] Q14211-08-06 13/16 " X16 10 06 275 22
4 Q14211-08-08 13/16 " X16 13 08 28.5 22
L Q14211-08-10 13/16 " X16 16 10 28.5 22
Q14211-10-08 1" X14 13 08 325 27
Q14211-10-10 1" X14 16 10 335 27
Q14211-12-08 1.3M16 " X12 13 08 355 32
Q14211-12-10 1.3416 " X12 16 10 36 32
Q14211-12-12 1.316" X12 19 12 36.5 32
Q14211-16-12 1.716 " X12 19 12 37 41
Q14211-16-16 1.7/16" X12 25 16 38.5 41
Q14211-20-20 11116 " X12 32 20 41.5 46
Q14211-24-24 2" X12 38 24 43 55
e 1. BPRGHTRSAEE. 2. nFHHTHRSEIERTEHQ14212-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series numberis Q14212-XX-XX.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



EZk

K

HYDRAULIC HOSE FITTING "=

Swaged Hose Fitting

ORFS Female Flat Seat ISO 12151-1 -SAE J516
K T ¥:.& HOSE BORE R+ DIMENSIONS
o L PART NO. THREADT | AFRAFEDN | f7'% DASH L 81
e Q24211-04-04 916 " X18 6 04 22.5 17
= - [Q24211-06-04T | 11/16" X16 6 04 225 22
l Q24211-06-05T 1116 " X16 8 05 235 22
Q24211-06-06 1116 " X186 10 06 25,5 99
) Q24211-08-06T 1316 " X16 10 06 25 24
5 Q24211-08-08 1316 " X16 13 08 285 24
Q24211-08-10 1316 " X16 16 10 295 24
Q24211-10-08T 1" X14 13 08 29 30
Q24211-10-10 1" X14 16 10 33.5 30
Q24211-12-08T 1.3M6 " X12 13 08 31 36
24271 Q24211-12-10T [ 1.3/16 " X12 16 10 32 38
Q24211-12-12 1.3M16 " X12 19 12 35 36
51 -~ L Q24211-16-12T 1.7M16 " X12 19 12 34 41
Fa Q24211-16-16T 1.7M186 " X12 25 16 38 4
L T ] I ). [Q24211-20-16T 1.11H16 " X12 25 16 35 50
l I A Q24211-20-20 1.11146 " X12 32 20 40 50
. Q24211-24-20T 2" X12 32 20 36.5 60
024211-24-24T 2" X12 38 24 36.5 60
- / e 1. RORSHTERAGE. 2, WHETEEHERS M0 A24212-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Q24212-XX-XX.
EHORFSPSRSIEEMN
Q24211D ORFS Female Flat Seat Double Hexagon ISO 12151-1-SAE J516
i BRET % HOSE BORE Jis] DIMENSIONS
PART NO. THREAD T A HRAiEDN | br's DASH L 81| 82
Q24211D-04-04 9/16 " X18 6 04 27.5 14 | 17
Q24211D-06-04 11/16 " X16 6 04 30.5 19 | 22
Q24211D-06-05 11/16 " X16 8 05 30.5 19 | 22
Q24211D-06-06 11/16 " X186 10 06 30.5 19 | 22
Q24211D-08-06 13/16 " X186 10 06 33 22 | 24
Q24211D-08-08 13/16 " X186 13 08 33.5 22 | 24
Q24211D-08-10 13/16 " X186 16 10 34.5 24 | 24
Q24211D-10-08 1" X14 13 08 40 27 | 30
Q24211D-10-10 1"X14 16 10 41 27 | 30
Q24211D-12-08 1.3/16 " X12 13 08 i 36 | 36
Q24211D-12-10 1.3/16 " X12 16 10 32 36 | 36
Q24211D-12-12 1.8/16 " X12 19 12 35 36 | 36
024211D-16-16 17/16 " X12 25 16 35 a1 | 41
Q24211D-20-16 |[1.11/16 " X12 25 16 35 50 | 50
Q24211D-20-20 |1.11/16"X12 32 20 40 50 | 50
Q24211D-24-20 2°X12 32 20 36.5 80 | 60
Q24211D-24-24 2" X12 38 24 36.5 60 | 60
e 1. RPRGHFRHANE. 2. mEH TS A SHN024212D-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series number is  Q24212D-XX-XX.

@

HYDRAULICS

BNEZERERMEBRLF

CANGZHOU QC HYDRAULICS CO., LTD

<



tgizsk HYDRAULIC HOSE FITTING ==

Swaged Hose Fitting

Q24241

51

Q24291

=

45°EHIORFSPIRLSER

45°0ORFS Female Flat Seat ISO 12151-1-SAE J516

e T & HOSE BORE F+ DIMENSIONS

PART NO. THREAD T | Zfkpy#DN | #r5 DASH L | H 51
Q24241-04-04 9/16" X18 6 04 33.8| 10 17
Q24241-06-04T 11/16 " X186 8 04 38| 11 22
Q24241-06-05T 11/16 " X186 8 05 47| 1 22
Q24241-06-06 11/16 " X186 10 06 eyl | 22
Q24241-08-06T 13/16 " X16 10 06 41 | 15 24
Q24241-08-08 13/16 " X186 13 08 46.3| 15 24
Q24241-08-10 13/16 " X16 16 10 55.2| 16 24
Q24241-10-08T 1" X14 13 08 47.3| 16 30
Q24241-10-10 1" X14 16 10 552 16 30
Q24241-12-08T 1.3M16" X12 13 08 5§23 21 36
Q24241-12-10T 1.3/116 " X12 16 10 60.2| 21 36
Q24241-12-12 1.3/16 " X12 19 12 63.7| 21 36
Q24241-16-12T 1.7116" X12 19 12 66.7 | 24 41
Q24241-16-16T 1.7/16" ¥12 25 16 73.4| 24 41
Q24241-20-16T [1.11/16" X12 25 16 81.4| 32 50
Q24241-20-20 1.1116* X12 32 20 92.8| 32 50
Q24241-24-20T 2" X12 32 20 102.8) 42 60
Q24241-24-24T 2"X12 38 24 113.1] 42 80

e 1 S HTRSEE. 2. 0 HTEREE S 2h024242-XX-XX.

Note:1.For use with

braided hoses. 2.If use with spiral hoses, hose fitting series number is  Q24242-XX-XX.

I
51

90°ZEHIORFSPELIFER
90°0ORFS Female Flat Seat ISO 12151-1-SAE J516
e BaT % HOSE BORE Jist DIMENSIONS
PART NO. THREAD T | 2F A #DN | f7'5 DASH L H S1
Q24291-04-04 9/16 * X18 [ 04 32 | 32 17
Q24291-06-04T 1116 " X186 (5] 04 32 | 38 22
Q24291-06-05T 11116 " X16 8 05 32.5| 38 22
Q24291-06-06 11/16 * X16 10 06 36.5| 38 22
Q24291-08-06T 1316 " X16 10 06 36.5| 41 24
Q24291-08-08 13/16 " X16 13 08 44.5| 41 24
Q24291-08-10 1316 " X16 16 10 55 | 47 24
Q24291-10-08T 1" X14 13 08 44 5| 47 30
Q24291-10-10 1"X14 16 10 55 | 47 30
Q24291-12-08T 1.316" X12 13 08 44 5| 58
Q24291-12-10T 1.316 " X12 16 10 55 | 58
Q24291-12-12 1.3/16 " X12 19 12 62 | 58 36
3 Q24291-16-12T 1.716 " X12 19 12 62 | T 41
Q24291-16-16T 1.716 " X12 25 16 74| 7 41
:F" . |Q24291-20-16T  |1.11/18° X12 25 16 74 | 78 50
/ Q24291-20-20 1.11/16 " X12 32 20 91.5| 78 50
T— Q24291-24-20T 2" X12 32 20 915| 86 60
; Q24291-24-24T 2"X12 38 24 108 | 86 60

e 1, RPNEAHTHEAKE. 2, WA THSHE{S85Q24202-XX-XX.

Note:1.For use with

braided hoses. 2.If use with spiral hoses, hose fitting series numberis Q24292-X0(-)CX.

@

HYDRAULICS

BHEZERERMEIRAE

CANGZHOU QC HYDRAULICS CO., LTD

<




gz HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

EHDICHMROITA SN ET
Q16711 JIC Male 74° Cone ISO 12151-5 -SAE J514
e BT % HOSE BORE i<} DIMENSIONS
PART NO. THREADT | 4#A4DN | bi'5 DASH L Si
L Q16711-04-04 76" X20 6 04 265 12
i Q16711-05-04 1/2 " X20 6 04 265 14
W) Q16711-05-05 1/2 * X20 8 05 26,5 14
. - ) Q16711-05-06 1/2* X20 10 06 26.5 17
) Q16711-06-04 9/16 * X18 6 04 26.5 17
Q16711-06-05 9/16 " X18 8 05 265 17
Q16711-06-06 9/16 " X18 10 06 26.5 17
Q16711-08-06 3/4" X186 10 06 31 22
Q16711-08-08 3/4" X16 13 08 315 22
Q16711-10-06 718" X14 10 06 3 24
Q16711-10-08 7/8" X14 13 08 345 24
Q16711-10-10 7/8" X14 16 10 355 24
Q16711-12-08 | 1.1/16" X12 13 08 39 27
Q16711-12-10 | 1.1186" X12 16 10 40 27
Q16711-12-12 1.1/116 " X12 19 12 40 27
Q16711-12-16 | 1.1/116" X12 25 16 41 32
Q16711-14-10 | 1.3M16 " X12 16 10 40 32
Q16711-14-12 | 1.3116 " X12 19 12 40.5 32
QS16711-16-12 | 1.5M6 " X12 19 12 425 36
QS16711-16-16 | 1.5M6" X12 25 16 435 36
QS16711-20-16 | 1.5/8" X12 25 16 48 46
QS16711-20-20 | 1.5/8" X12 32 20 475 46
QS16711-24-20 | 1.7/8 " X12 32 20 53.5 50
QS16711-24-24 | 1.7/8" X12 38 24 53 50
QS16711-32-32 | 2.1/2 " X12 51 ap 64 65
1, BERSHATHRARE. 2. WFHATESHENRSHNQ6712-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses,hose fitting series numberis Q16712-XX-XX.

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

Q26711 . EHICHBLTA REE
JIC Female 74° Cone Seat 1ISO 12151-5 -SAE J514
e T ##¥ HOSE BORE &+ DIMENSIONS
PA RT NO. THREAD T A FR#H7EDN | bi% DASH L S1
Q26711-04-04 7/16 " X20 6 04 15 14
Q26711-05-04 1/2 * X20 B 04 15.5 17
Q26711-05-05 1/2" X20 8 05 15.5 17
Q26711-06-04T 9/16 " X18 B 04 15.5 19
Q26711-06-05 9/16 " X18 8 05 15.5 19
5 Q26711-06-06 9/16 " X18 10 06 15.5 19
Q26711-07-06 9/16 " X18 13 08 16 19
Q26711-08-06T 3/4" X16 10 06 17.5 22
Q26711-08-08 3/4" X16 13 08 18 22
Q26711-08-10 3/4" X16 16 10 19 22
Q26711-10-08T 7/8" X14 13 08 18 27
Q26711-10-10 7/8" X14 16 10 20 27
Q2671 =T Q26711-10-12 7/8" X14 19 12 20 27
L Q26711-12-08T |[1.1/16 " X12 13 08 20 32
51 Q26711-12-10T  |1.1/16" X12 16 10 21.5 32
Q26711-12-12 1.1/16 " X12 19 12 21.5 32
T4 LIS [ Q26711-14-12T  [1.3/16 " X12 19 12 21.5 36
l /f"r — 026711-16-12T  [1.5/18" X12 19 12 22 41
Q26711-16-16 1.5/16 " X12 25 16 23 41
Q26711-20-16T 1.5/8" X12 25 16 25 50
) Q26711-20-20 1.5/8 " X12 32 20 26 50
Q26711-24-20T 1.7/8 " X12 32 20 26.5 60
Q26711-24-24 1.7/8" X12 38 24 26.5 60
Q26711-32-24T | 2.1/2" X12 38 24 26.5 75
Q26711-32-32T 2.1/2"X12 51 32 27 75

e 1. RPRSHFESART. 2. WEHTESEHERSHCN026712-XX-XX.

Mote:1.For use with

braided hoses. 2.If use with spiral hoses, hose fitting series numberis Q267 12-XX-XX.

EHICABRNTA BRI/ B

Q26711D JIC Female 74° Cone Seat 1SO 12151-5 Double Hexagon SAE J514
&5 maT % HOSE BORE JL| DIMENSIONS

PART NO. THREAD T |4#A1EDN | 55 DASH L 51| 82

L Q26711D-04-04 | 7/16" X20 6 04 20 14 | 14

s2 | Q26711D-05-04 | 1/2" X20 6 04 20.5 17 | 17

§___ Q26711D-06-04 | 9/16" X18 6 04 21 19 | 19

'I_-r < Q26711D-06-06 | 9/16" X18 10 06 21 19 | 19

W Q26711D-08-06 | 3/4"X16 10 06 25 24 | 22

Q26711D-08-08 | 3/4" X16 13 08 245 24 | 22

Q26711D-08-10 | 3/4" X16 16 10 25.5 24 | 22

Q26711D-10-08 | 7/8" X14 13 08 28 27 | 27

Q26711D-10-10 | 7/8" X14 16 10 29 27 | 27

Q26711D-12-12_[1.1/16 " X12 19 12 31.5 32 | 32

Q26711D-16-12 | 1.5/16 " X12 19 12 335 a1 | 41

Q26711D-16-16 | 1.5/16 " X12 25 16 34.5 a1 | a1

Q26711D-16-20 |1.5/16* X12 az 20 3.5 4 | a1

Q26711D-20-20 | 1.5/8" X12 32 20 39 50 | 50

B 1, RPRSATHRARE. 2. WHHTHESEHELS U267 12D-XX-XX.

Note:1.For use with

braided hoses. 2 .If use with spiral hoses, hose fitting series number is Q267 12D-XX-X>.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<l




- #regizs.  HYDRAULIC HOSE FITTING == »
Swaged Hose Fitting

EHUICRBRLTA N A

Q26711D-SM JIC Female 74° Cone Seat ISO 12151-5 Double Hexagon SAE J514
] BarT #% HOSE BORE F~} DIMENSIONS
PART NO. THREAD T | AAFRP4DN | 5% DASH L 81| 82
52 P Q26711D-04-04SM | 7/16 " X20 8 04 20 12| 14
Q26711D-05-04SM | 1/2* X20 6 04 20.5 12 | 17
i Ao } |Q26711D-06-04SM| 9/16" X18 6 04 21 14| 19
= —  |Q26711D-06-065M | 9/16" X18 10 06 21 17 | 19
Q26711D-08-065M | 3/4* X16 10 06 25 19| 22
Q26711D-08-08SM | 3/4* X18 13 08 24.5 22 | 22
Q26711D-08-105M | 3/4"X16 16 10 25.5 22 | 22
Q26711D-10-085M | 7/8°* X14 13 08 24 22| 27
Q26711D-10-105M | 7/8 " X14 16 10 27 22 | 27
Q26711D-12-125M | 1.1/16 * X12 19 12 31.5 27 | 32
Q26711D-16-125M | 1.5/16 * X12 19 12 31.5 32| M
Q26711D-16-165M | 1.5/16 * X12 25 16 32.5 32 | 41
Q26711D-20-20SM | 1.5/8 " X12 32 20 a7 41| 50
e 1. BPRSHATHRAGE. 2. mFH TEEHE NS HCAQ26712D-XX-XXSM.  Note:1 For use with
braided hoses. 2.If use with spiral hoses, hose fitting series number is Q26712D-XX-XXSM.

A5°=HICRE ST 4° IEE
45°]JIC Female 74° Cone Seat I1SO 12151-5 -SAE J514

Q26741

L5 AT % HOSE BORE sk DIMENSIONS
PART NO. THREAD T | A#P#2DN | #r'5 DASH L] H S1
Q26741-04-04 716 " X20 6 04 33.8| 10 14
Q26741-05-04 1/2 " X20 8 04 338| 10 17
Q26741-05-05 1/2 " X20 8 05 37| 10 17
Q26741-06-04T 9/16 " X18 8 04 348] N 19
Q26741-06-05 9/16 " X18 8 05 347 1 19
Q26741-06-06 9/16 " X18 10 06 37 | 1 19
Q26741-06-08 9/16 " X18 13 08 463| 15 19
Q26741-08-06T 3/4" X16 10 06 41 | 15 22
Q26741-08-08 3/4 " X16 13 08 46.3| 15 22
Q26741-08-10 3/4" X16 16 10 552| 16 22
Q26741-10-08T 7/8" X14 13 08 473| 16 27
Q26741-10-10 7/86" X14 16 10 852| 16 27
Q26741-T Q26741-10-12 7/8" X14 19 12 63.7| 21 27
Q26741-12-08T 1.1/16 " X12 13 08 523| 21 32
L Q26741-12-10T 1.1/16 " X12 16 10 60.2| 21 32
- Q26741-12-12 1.1/16 " X12 19 12 63.7| 21 32
v B Q26741-14-12T 1.3/16 " X12 19 12 735| 31 36
,~ Q26741-16-12T 1.5/16 " X12 19 12 66.7| 24 41
Q26741-16-16 1.5/16 " X12 25 16 734| 24 41
Q26741-20-16T 1.5/8" X12 25 16 814| 32 50
: Q26741-20-20 1.5/8" X12 32 20 92.8| 32 50
Q26741-24-20T 1.7/8" X12 32 20 102.8) 42
Q26741-24-24 1.7/8" X12 38 24 113.1] 42 60
g Q26741-32-24T | 2.1/2 " X12 38 24 1226 515 75
Q26741-32-32T 2.1/2" X12 51 32 136.5/ 51.5 75
e 1, BPRSHATHRARE. 2. WHEATHASHIER S M NQRE742-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series numberis Q26742-XX-XX.

@

HYDRAULICS

BNEZERERMEBRLF

CANGZHOU QC HYDRAULICS CO., LTD

<




tgizsk HYDRAULIC HOSE FITTING ==

Swaged Hose Fitting

Q26791 90° 240 1C RBET4 KT
90°JIC Female 74" Cone Seat ISO 12151-5-5AE J514
L 5 SBAT #% HOSE BORE K5 DIMENSIONS

PART NO. THREADT [A#N{2DN | %5 DASH L[ H 31

— Q26791-04-04 7/16 " X20 6 04 2| 3 14

Q26791-05-04 1/2 " X20 6 04 ? | 3 17

Q26791-05-05 1/2 " X20 8 05 325 | 32 17

Sl Q26791-06-04T 9/16 " X18 6 04 32 | 38 19

Q26791-06-05 9/16" X18 8 05 325 | 38 19

Q26791-06-06 9/16" X18 10 06 365 | 38 19

Q26791-06-08 9/16 “X18 13 08 445 | 41 19

Q26791-08-06T 3/4"X16 10 06 365 | 41 2

026791-08-08 3/4 " X16 13 08 445 | 41 2

Q26791-08-10 3/4" X186 16 10 55 | 47 22

Q26791-10-08T 7/8" X14 13 08 445 | 47 27

Q26791-10-10 7/8" X14 16 10 56 | 47 27

Q26791-10-12 7/8"X14 19 12 62 | 58 27

Q26791-12-08T | 1.1/16 " X12 13 08 445 32

Q26791-12-10T 1.1/16 " X12 16 10 32

Q26791-12-12 1.1/18" X12 19 12 62 32

7 Q26791-14-12T 1.3/16 " X12 19 12 64 | 635 36

( Q26791-16-12T 1.5/16 " X12 18 12 682 | 7 41

sﬁ‘: Q26791-16-16 1.5/16 " X12 25 16 74 | T 41

1 Q26791-20-16T 1.5/8" X12 25 16 74 | 78 50

T— ; Q26791-20-20 1.5/8" X12 32 20 915 | 78 50

h Q26791-24-20T 1.7/8° X12 a2 20 915 | 86 80

Q26791-24-24 1.7/8"X12 38 24 108 | 86 80

Q26791-32-24T 2.1/2" X12 38 24 108 | 140 75

Q26791-32-32T 2.1/2"X12 51 3z 1338/| 140 75

%‘ e 1. BPESHETHESE. 2. EH T RS8N 5 H026792-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses, hose fitting series numberis Q26792-XX-XX.

S0°EHESIIC AT MR

Q26791-K 90°JIC Compact Female 74°Cone Seat SAE J514

L %= BaT ## HOSE BORE R+ DIMENSIONS

B PART NO. THREADT | ZFi/4%DN | 55 DASH L | H|s1]s2

_ r':rl‘l1 Q26791K-04-04 7/16 " X20 6 04 17.5| 18 | 11 | 14

' Q26791K-05-05 1/2 " X20 8 05 19.5| 18 | 11 | 17

Heo | Q26791K-06-04 9/16 " X18 6 04 19 | 21 | 14 | 19

= Q26791K-06-06 9/16 " X18 10 06 20 | 21 | 16 | 19

Sl Q26791K-08-06 3/4 " X16 10 06 23 | 25 | 19 | 24

T Q26791K-08-08 3/4 " X16 13 08 23.5| 25 | 22 | 24

Q26791K-10-08 7/8 " X14 13 08 235(27.5| 22 | 27

Q26791K-10-10 7/8" X14 16 10 25 [27.5| 22 | 27

Q26791K-12-12 1.1/16 " X12 19 12 27.5| 30 27 32

Q26791K-16-16 | 1.5/16" X12 25 16 43 [34.3| 33 | 41

{E: 1. ZPRSHTRARE. 2. WA TESIER S HQ26792K-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series numberis Q26792K-XX-XX,

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



#rg#zsk HYDRAULIC HOSE FITTING ‘0E=

Swaged Hose Fitting

DFIARNEEREREL
Q2001 1-T Metric Female Waterwash Inserts
o5 AT 5% HOSE BORE J5 DIMENSIONS
PART NO. THREADT | ##7412DN | #='5 DASH N B T
T [ HITITT Ty [ Q20011-22-04T | Me2xis 6 04 35 [345] 14
] Q20011-22-05T | M22X1.5 8 05 35 |345| 14
5 Q20011-22-06T M22X1.5 10 06 35 |345| 14
——
FRLE ‘
b-__‘_,d'
EHIFBa4s° O
Q17811-S SAE 24° 1512 FLARE
e % HOSE BORE Jist DIMENSIONS
PART NO. ##5P42 DN | #5'2 DASH L |81
Q17811-04-045 8 04 43 | 12
Q17811-05-04S 6 04 465/ 14
Q17811-06-055 8 05 48 | 17
Q17811-06-065 10 06 48 | 17
Q17811-08-065 10 06 50 | 19
Q17811-08-08S 13 08 51 | 19
Q17811-10-08S 13 08 52.5| 24
Q17811-10-108 16 10 53 | 24
SAE}% 2 3000 PSI 618
Q873 11 SAE Flange 3000 PSI Code 61 1SO 12151-3-SAE J516
(i T ¥ HOSE BORE Ji+ DIMENSIONS
PART NO. THREAD T | A#if4DN | #5% DASH L D | U
Q87311-08-08 12" 13 08 48 30.2 | 6.73
D[]Z!:ﬂﬂ'lnm:q Q87311-12-08 3/4 " 13 08 47 38.1|6.73
S Q87311-12-10 34" 16 10 48 381 6.73
i
ufﬂ: L Q87311-12-12 3/4 " 18 12 48 38.1| 6.73
Q87311-12-16 34" 25 16 49 38.1| 6.73
Q87311-16-12 i 19 12 51 44| 8
Q87311-16-16 1" 25 16 52 444| 8
Q87311-16-20 i 3z 20 53 44.4| 8
Q87311-20-16 1.1/4 ¥ 25 16 57 508| 8
Q87311-20-20 1.1/4" 32 20 58 508| 8
Q87311-24-20 1.4/ 32 20 68 603| 8
Q87311-24-24 142" 38 24 68 603| 8
Q87311-32-24 2 38 24 66 71.4 | 9.53
Q87311-32-32 g 51 32 66 714|953
P 1. BPCSHETHRERE . 20 WHAH THSHE LS HUA087312-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series number is  Q87312-X-XX.

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



tgizsk HYDRAULIC HOSE FITTING ==

Swaged Hose Fitting

AS°SAE;R = 3000 PSI 618

Q87341 45°SAE Flange 3000 PSI Code 61150 12151-3-SAE J516
5 Bar i HOSE BORE < DIMENSIONS
PART NO. THREAD T | 4 #M%#DN | Fi5 DASH L H D L1
L QB87341-08-08 1/2" 13 08 503 | 19 | 30.2| 6.73
Q87341-12-08 34 " 13 08 573| 26 | 38.1| 6.73
= Q87341-12-10 34 " 16 10 652 | 26 33.1 6.73
Q87341-12-12 34" 19 2 87| 26 | 38.1] 673
= Q87341-12-16 34" 25 16 794 | 30 | 381| 6.73
Q87341-16-12 1" 19 12 47| 32 |444| B
Q87341-16-16 1" 25 16 814 | 32 |444| B
Q87341-16-20 14 32 20 958 | 35 | 444 B
Q87341-20-16 1.1/4" 25 16 §74| 38 | 508 8
S Q87341-20-20 1.1/4" 32 20 988 | 38 | 508 8
_4 Q87341-24-20 1.1/2" 32 20 10475 44 | 603 B
M Q87341-24-24 112" 38 24 1151 44 | 603 8
Q87341-32-24 2" 38 24 1271| 56 | 71.4| 9.53
Q87341-32-32 2" 51 32 141 | 56 | 71.4| 953
Vho 1, RPREATROUCE, 2, W TALHT (LS % h087342-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series numberis QB87342-XX-XX.

90°SAEiZ = 3000 PSI 618!

Q87391 90°SAE Flange 3000 PSI Code 61 1SO 12151-3-SAE J516
1RE BT % HOSE BORE J&<F D MENSIONS
PART NO. THREADT | #fi/4EDN | #x5 DASH L{H| D] L1
L Q87391-08-08 172" 13 08 445| 40 | 30.2| 6.73
Q87391-12-08 34" 13 08 445| 58 | 38.1| 6.73
- // Q87391-12-10 34" 16 10 56 | 58 | 38.1| 673
0 Qa7391-12-12 34" 19 12 62 | 58 | 38.1| 6.73
F aB o] Q87391-12-16 34" 25 16 74 | 68 | 38.1| .73
D 087391-16-12 1" 19 12 62 | 70 | 444| 8
Q87391-16-16 1" 25 16 74 | 70 | 44.4
. Q87391-16-20 s 32 20 915 B2 | 444 8
Q87391-20-16 1.1/4 " 25 16 74 | 80 | 508| B
Q87391-20-20 1.14/4 " 32 20 915 90 | 508 8
Q87391-24-20 1172" 32 20 915|104 | 60.3| 8
Q87391-24-24 1.1/2" 38 24 108 | 104 | 60.3| B8
Q87391-32-24 o 38 24 108 | 138 | 71.4| 9.53
Q87391-32-32 20 51 32 133.8| 138 | 71.4| 953
i 1 RORSATEONE. 2, nFH TESHERSHNQ8T02-XX-XX.  Note:1.For use with
braided hoses. Z2.If use with spiral hoses,hose fitting series number is QB7392-XX-XX.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



#rg#zsk HYDRAULIC HOSE FITTING ‘0E=

Swaged Hose Fitting

SAEj% = 6000 PS| 628!

Q87611 SAE Flange 6000 PSI Code 62 1SO 12151-3-SAE J516
%e bty ik HOSE BORE Jis DIMENSIONS
PART NO. FLANGE SIZE | 2 ¥5442DN | k55 DASH L D | L1
Q87611-08-08 1/2" 13 08 47 31.7|7.75
Q87611-12-10 a/4" 16 10 51 41.3| 8.76
Q87611-12-12 3la” 19 12 51 41.3|8.76
Q87611-16-12 1" 19 12 56 47.6| 9,53
Q87611-16-16 14 25 16 57 47.6| 9,53
Q87611-16-20 12 3z 20 58 47.6|9.53
Q87611-20-16 1.1/4" 25 16 65 54 [10.29
Q87611-20-20 1.1/4" 32 20 66 54 110.29
Q87611-24-20 1.1/ 32 20 75 63.5|12.57
Q87611-24-24 1.4/2" 38 24 75 63.5[12.57
Q87611-32-24 2 38 24 85 79.4 (12,57
Q87611-32-32 2 51 32 85 79.4 12,57
e 1. RPRSHFHAEE. 2, i FESEEHS%N087612-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Q87612-XX-XX.

45°SAE% = 6000 PS| 628

Q87641 45°SAE Flange 6000 PS| Code 62 I1SO 12151-3-SAEJ516
s HLme % HOSE BORE i< DIMENSIONS
PARTNO. | FLANGE SIZE| Z###DN | b5 DASH L{H DU
QB87641-08-08 1/2" 13 08 50.3| 19 |31.7|7.75
QB7641-12-10 3i4" 16 10 652| 26 |41.3|8.76
Q87641-12-12 a/4" 19 12 68.7| 26 |41.3|8.76
QB87641-16-12 1 19 12 74.7| 32 |47.6|9.53
QB87641-16-16 1 g 25 16 814 | 32 |47.6|9.53
Q87641-16-20 3 32 20 958| 35 |47.6|9.53
Q87641-20-16 1.1/4" 25 16 874 | 38 54 [10.29
Q87641-20-20 1.1/4" 32 20 988| 38 | 54 |10.29
QB87641-24-20 1.1/2" 32 20 104.8| 44 |63.5[12.57
Q87641-24-24 1.1/2" 38 24 115.1| 44 |63.5[12.57|
QB87641-32-24 2" 38 24 127.1| 56 |79.4|12.57
Q87641-32-32 2" 51 32 141 | 56 |79.412.57|
e 1. BPRSHTHSAHME. 2. IR TESRERSHN0BTE42-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses hose fitting series numberis QB87642-XX-XX_

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



tgizsk HYDRAULIC HOSE FITTING ==

Swaged Hose Fitting

90°SAEj£ = 6000 PS| 628
Q87691 90°SAE Flange 6000 PS| Code 62 ISO 12151-3-SAE J516
i3 ot 1% HOSE BORE /i3 DIMENSIONS
PART NO. FLANGE SIZE| ZF#{DN | 5% DASH L|H|D]|WL
Q87691-08-08 112" 13 08 44.5| 40 |31.7|7.75
Q87691-12-10 3/4" 16 10 55 | 58 |41.3|8.76
Q87691-12-12 3/4" 19 12 62 | 58 |41.3]8.76
Q87691-16-12 1" 18 12 62| 70 |47.6|9.53
Q87691-16-16 1" 25 16 74 | 70 | 47.6]9.53
Q87691-16-20 1 32 20 g1.5| 82 |47.6|9.53
Q87691-20-16 1.1/4" 25 16 74 | 90 | 54 [10.29
QB7691-20-20 1.1/4" 32 20 91.5| 90 | 54 |10.29
Q87691-24-20 1.1/2" 32 20 81.5| 104 | 63.5[12.57
Q87691-24-24 1.1/2" 38 24 108 | 104 | 63.5 [12.57
QB7691-32-24 2' 38 24 108 | 138 [ 79.4 [12.57
Q87691-32-32 i 51 32 133.8 138 | 79.4 |12.57
P 1, FePASETHSURE. 2. @ TASE LS U0h087692-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis QB87692-XX-XX.

Atk E L
Q60011 MT Staplel Ockclip Fastener Male
feg i Ji< DIMENSIONS
PART NO. SIZE Ad D1 D2
Q60011-04-04D 1/4" 36.5 15 10
Q60011-05-05D 5/16" 36.5 20 14
Q60011-06-06D as" 36.5 20 14
Q60011-08-08D 12" a7 24 18
Q60011-10-10D 5/8" 38 26 21
Q60011-12-12D 34" a8 29 o4
Q60011-16-16D 1" 44 39 31
Q60011-20-20D 1.1/4° 46 46 38
Q60011-24-24D 1.4/2* 51 55 47
Q60011-32-32D 2" 51 B4 56
Q60011-20-20G 1.1/4* 66 45.5 38
Q60011-24-24G 1.1/2° 72 54.5 a4
KT ; Q60011-32-32G 2" 72 83.5 50
Wik v Q60011-04-04K 1/4 " 33.5 15 11
. Q60011-05-05K 5/16" 33.5 18 13
Q60011-06-06K 3" 33.5 18 15
Q60011-08-08K 12" 33.5 22 18
Q60011-10-10K B/8 " 38 25 20
Q60011-12-12K 3/4" 40 28 24
Q60011-16-16K A [l 40 35 30
Q60011-20-20K 1.1/4* 42 42 38
Fe 1. RPREATHRAKE. 2. DFEMATHSKENSHEON060012-XX-XX. 3. D:SAEEMY;
G:SAEMIE#,; K: #45. Note:1.Foruse with braided hoses. 2 If use with spiral hoses hose fitting
series number is QB0012-XX-XX. 3.D:SAEGeneral; G: SAEHigh pressure; K:MT

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



gz HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

Q70011 et g i S
etric Banja DIN 7642
5 e ;% HOSE BORE S+t DIMENSIONS
PART NO. BOLT AHEHEDN | 455 DASH L|d|D]|H
d Q70011-10-03 M10X1 5 03 17 [10.1] 17 | 10
7 q"'—mm Q70011-10-04 M10X1 6 04 19.5(10.1] 17 | 10
o ¥ Q70011-12-04 M12X1.5 6 04 21 [12.1] 20 | 12
8 ﬁ_ Q70011-12-05 M12X1.5 8 05 225|121 22 | 12
Q70011-12-06 M12X1.5 10 06 21 [12.1| 20 | 12
Q70011-14-04 M14X1.5 6 04 245141 24 | 14
Q70011-14-05 M14X1.5 8 05 21 [14.1]| 24 | 14
Q70011-14-06 M14X1.5 10 06 245|141 24 | 14
Q70011-16-04 M16X1.5 6 04 24 |16.1| 28 | 18
Q70011-16-05 M16X1.5 8 05 24 [16.1| 28 | 18
Q70011-16-06 M16X1.5 10 06 24 [16.1| 28 | 18
Q70011-18-04 M18X1.5 6 04 30.5|18.1] 32 | 20
Q70011-18-05 M18X1.5 a8 05 24.5(18.1| 32 20
N Q70011-18-06 Mi18X1.5 10 06 24.5[18.1| 32 | 20
: Q70011-18-08 M18X1.5 13 08 25 |18.1| 32 | 20
P Q70011-22-06 M22X1.5 10 06 27 [22.1] 35 | 22
Q70011-22-08 M22X1.5 13 08 27.5(22.1] 35 | 22
Q70011-22-10 M22X1.5 16 10 28 [22.1| 39 | 22
Q70011-26-12 M26X1.5 19 12 36.5|26.1] 45 | 29
Q70011-30-16 M30X1.5 25 16 40 [30.1| 54 | 36
Q70011-30-20 M30X1.5 32 20 41 [30.1| 54 | 36
ik 1. #PASATHANE. 2. WH A TS HERSEAA70012-X6XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Q70012-XX-XX.

Q72011 S
SP Banjo
we e s HOSE BORE K+ DIMENSIONS
PART NO. BOLT LFRAEDN | 455 DASH L d D H
Q72011-04-04 G1/4 " X19 6 04 19.5(13.3| 24 | 14
d Q72011-04-05 G1/4 " X19 8 05 19.5(13.3| 24 | 14
/"ﬁ:ﬂmrmq Q72011-04-06 G1/4" X19 10 06 22 (13.3| 24 | 14
& ﬁ 1 — a Q72011-06-04 G3/8" X19 6 04 22 [16.7| 29 | 18
2 L Q72011-06-05 G3/8 " X19 8 05 22 |16.7| 29 | 20
Q72011-06-06 G3/8" X19 10 06 22 |18.7| 29 | 20
Q72011-06-08 G3/8 " X19 13 08 23.5(16.7| 28 | 20
Q72011-08-05 G1/2 " X14 8 05 27.56| 21 | 35 | 22
Q72011-08-06 G1/2" X14 10 06 27.5(21.2| 35 | 22
Q72011-08-08 G1/2" X14 13 08 27.5(21.2| 36 | 25
. Q72011-08-10 G1/2" X14 16 10 28.5(21.2| 36 | 25
Q72011-10-10 G5/8" X14 16 10 28 | 23 | 40 | 27
Q72011-12-10 G3/4 " X14 16 10 32 |26.6| 48 | 31
'.. Q72011-12-12 G3/4 " X14 19 12 32 |26.5| 48 | 31
Q72011-16-08 G1 " X11 13 08 40 (33.3| 48 | 36
Q72011-16-12 G1 " X11 19 12 40 [33.3| 54 | 36
Q72011-16-16 G1"X11 25 16 41 |33.3| 54 | 36

1 RPRSHTFREARE, 2. nF A THSEE SR AQT2012-XX-XX.  Note:1.For use with

braided hoses. 2.If use with spiral hoses, hose fitting series numberis Q72012-X0¢-XX.

@ BNEEREEHERAT

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



weg#zsk HYDRAULIC HOSE FITTING HE=

Swaged Hose Fitting

oflgERR
Metric Bolt DIN 7643
=3 T Fl<f DIMENSIONS
PART NO. THREAD T L L1 S1
Q700M-10 M10X1 19.5| 6 14
Q700M-12 M12X1.5 245| 6 17
Q700M-14 M14X1.5 26 6 19
Q700M-16 M16X1.5 28.5| 6 22
Q700M-18 M18X1.5 325| 6 24
Q700M-22 M22X1.5 TR =
Q700M-26 M26X1.5 46 | 10 32
Q700M-30 M30X1.5 51 [ 10 =
k. AISTO011{E . Note: USE for S70011 series
g R
BSP Bolt
e fBaT JLs DIMENSIONS
PART NO. THREAD T L L1 S1
Q720B-02 G1/8" X28 295| 4.8 14
Q720B-04 G1/4" X189 28.5| 6 19
Q720B-06 G3/8" X19 38.5| 7 22
Q720B-08 Gi/2" X14 44 | 8.5 er
Q720B-10 G5/8" X14 48.5| 10 30
Q720B-12 G3/4 " X14 46 | 10 32
Q720B-16 G1*X11 68.5| 13 41
iF: BST72011{#H . Note: USE for 572011 series
Q90011 ks
Double Connector
e ¥ HOSE BORE FlsF DIMENSIONS
PART NO. SAFRAREDN | {75 DASH L
Q90011-04 6 04 12
Q90011-05 8 05 12
Q90011-06 10 06 12
Q90011-08 13 08 13
Qs90011-10 16 10 16
Qs90011-12 19 12 16
Qs590011-16 25 16 23
Q590011-20 32 20 26
Q590011-24 38 24 26
Qs90011-32 51 32 25
1 BPRSETHARE. 2. WMFHA TS F S0 H0012-XX-XX.  Note:1.For use with
braided hoses. 2.If use with spiral hoses, hose fitting series numberis Q9001 2-XX-XX.

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<L



#rg#zsk HYDRAULIC HOSE FITTING ‘0E=

Swaged Hose Fitting

LHIREL2A°H HOHBEERY

Q20513-T Metric Female 24° Cone O-Ring H.T.1SO 12151-2-DIN 3865
s BT 44 HOSE BORE BT Jist DIMENSIONS

] PART NO. THREADT | 4% MN#EDN | #:%5 DASH | TUBEQ.D | L s1

81 Q20513-36-12T M36X2 19 12 25 335 46

Q20513-42-16T M42X2 25 16 30 3r.5 50

- L T T Q20513-52-20T | M52X2 32 20 38 45.5 60

45° 4 HIPIR a2 4°H# OB ERY

Q20543-T 45°Metric Female 24° Cone O-Ring H.T. ISO 12151-2-DIN 3865
s T % HOSE BORE AR Jis} DIMENSIONS

PART NO. THREAD T |Z:#:P4%2DN | #5% DASH| TUBEO.D | L H 51

Q20543-36-12T | M36X2 19 12 25 80.2 | 305 46

Q20543-42-16T | M42X2 25 16 30 854 | 355 50

020543-52-20T | M52%2 32 20 38 110.75| 42 60

90° LM EIQIRG24° 4 HORME RS

Q20593-T 90°Metric Female 24° Cone O-Ring H.T. 1SO 12151-2-DIN 3865

L v BET % HOSE BORE b S v i L=} DIMENSIONS
[ PART NO. THREAD T | A#K DN | #+5 DASH| TUBEO.D | L H s1
7 Q20593-36-12T M36X2 19 12 25 69 59 46
7 Q20593-42-16T | M42X2 25 16 30 | 745 70 50
Q20593-50-20T M52X2 32 20 38 99.5 87 60

51
) ,

@

HYDRAULICS

BNEZERERMEBRLF

CANGZHOU QC HYDRAULICS CO., LTD

<l



tgizsk HYDRAULIC HOSE FITTING ==

Swaged Hose Fitting

HE NS0 /IMEmIFOEE

Q22613-0OR BSP Female 60°O-Ring Cone ISO 12151-6
g e BT 1 HOSE BORE K5) DIMENSIONS

ﬂ\f\_ PART NO. THREADT | “FRMTEDN | 475 DASH L S1

&}Eﬂ_[ Q22613-12-120R G3/4"X14 19 12 26.5 32

i O] [Q22613-16-160R | G1'X11 25 16 30.4 PR

! = 22613-20-200R G1.1/4"11 32 20 358 50

Q22613-24-240R | G1.1/2'X11 38 24 36.7 55

ASCEERIEN60°/MER HORE

Q22643-0OR 45°BSP Female 60°0-Ring Cone 1SO 12151-6
1R BaT 4 HOSE BORE Jsl DIMENSIONS
R S— PART NO. THREADT | Z#:/#£DN |} DASH L[H S1
o Q22643-12-120R | G3/4°X14 19 12 78.7| 29 32
ﬁ Q22643-16-160R | G1'Xi1 25 16 849| 35 41
Q26443-20-200R | G1.1/4'X11 32 20 108.8] 40 50
Q26443-24-240R | G1.12'X11 38 24 1231] 50 55
0 HERIBWE0JMET HORE
Q22693-0OR 90°BSP Female 60°0-Ring Cone ISO 12151-6
L g AT 1% HOSE BORE Jif DIMENSIONS
1 PART NO. THREADT | 2#A#DN | ki DASH L[H S1
% Q22693-12-120R | Ga/4*X14 19 12 69 | 58 32
f Q22693-16-160R | G1"X11 25 16 745 70 4
o Q22693-20-200R | G1.1/4'X11 32 20 995| 85 50
022693-24-240R | G1.1/2'X11 38 24 110 | 100 55
81 \

@ BMERREEMERAS

HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<l



#rg#zsk HYDRAULIC HOSE FITTING ‘0E=

Swaged Hose Fitting

SEHUICRIRG74° N HEmE

Q26713 JIC Female 74° Cone Seat 1SO 12151-5 -SAE J514

5 g #&f HOSE BORE R +) DIMENSIONS

31 PARTNO. | THREADT | 2/ i*DN | fi'; DASH L st
Q26713-12-12 1.116 " X12 19 12 26.5 32

& . Q26713-16-16 | 1.516 ' X12 25 16 294 41
l Q26713-20-20 | 158" X12 32 20 32.3 50
) Q26713-24-24 | 178" X12 38 24 352 60
QS26713-32-32 | 212" x12 50 32 345 75

45° S ICRIRGT 4° i E

Q26743 45° JIC Female 74° Cone Seat ISO 12151-5 -SAE J514

5 MR 4 HOSE BORE Jis DIMENSIONS
L PART NO. THREAD T |4-#: N DN | #5'5 DASH L H 81
Q26743-12-12 1116 " X12 19 i2 70.7 21 32
s1 Q26743-16-16 1.5M16 " X12 25 16 73.9 24 41
2= Q26743-20-20 1.58" X12 a2 20 1008 | 32 50
Q26743-24-24 1.7/8 "' X12 38 24 1151 42 60
Q26743-32-32 212" X12 51 32 136 | 51.5 75

(

90° EHUICRIRITA R

Q26793 90° JIC Female 74° Cone Seat ISO 12151-5 -SAE J514
. L RE AT i HOSE BORE Fl=} DIMENSIONS
PART NO. THREAD T | £:#: 4 f2DN | #75 DASH L H S1
/ Q26793-12-12 1.1M16 " X12 19 12 [::] 58 32
T Q26793-16-16 1.5M6" X12 25 16 745 i | 41
Q26793-20-20 1.5/8" X12 32 20 99.5 78 50
B3 . Q26793-24-24 1.7/8" X12 38 24 110 B6 60
now _ Q26793-32-32__ | 2.1/2"X12 50 32 133.3| 140 75
T KJ
o
@ BNEEREEHERAD
HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



tgizsk HYDRAULIC HOSE FITTING ==

Swaged Hose Fitting

Q 14213 _ EFIORFSH/MBU T EROB B S H
ORFS Male O-Ring Seal 1SO 12151-1 -SAE J1453
&% WRET % HOSE BORE s DIMENSIONS
PART NO. THREADT | Z:FRiNFEDN | §5% DASH L 51
Q14213-12-12 1.3/16 " X12 19 12 38.5 32
- Q14213-16-16 1716 " X12 25 16 40.5 38
14213-20-20 11116 " X12 32 20 42.5 46
Q14213-24-24 2°X12 24 24 45.5 55
EFIORFSHELER
Q24213 ORFS Female Flat Seat 1SO 12151-1-SAE J516
5 RAT 1% HOSE BORE 7] DIMENSIONS
8 PART NO. THREADT | 4#M4#DN | ti%2 DASH L S1
Q24213-12-12 1.316" X12 19 12 41 a6
024213-16-16 1.716" X12 25 16 44.4 41
Q24213-20-20 11116 " X12 32 20 47.8 50
Q24213-24-24 2" X12 38 24 48.2 60
45°EHIORFSHIRAER
Q24243 45°Elbow ORFS Female Flat Seat SO 12151-1-SAE J516
14 BT 4% HOSE BORE J&=F DIMENSIONS
PART NO. THREAD T | £4#KPJ#2DN | #55 DASH L H S1
Q24243-12-12 1.3/16 " X12 18 i2 0.7 21 36
Q24243-16-16 1,716 " X12 25 16 739| 24 41
Q24243-20-20 | 1.11/16" X12 32 20 100.8] 32 50
Q24243-24-24 2" X12 38 24 115.1| 42 B0
@ BNEEREEMERAS
HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD



#2sk  HYDRAULIC HOSE FITTING M=

RE

Swaged Hose Fitting

90° ZEHIORFSHIEL EH

Q24293 90°Elbow ORFS Female Flat Seat 1ISO 12151-1-SAE J516
; S fte BT ##¥ HOSE BORE S5 DIMENSIONS
- PART NO. THREADT | A#472DN | #% DASH L H 51
s Q24293-12-12 1.3/16 " X12 19 12 69 | 58 36
Q24293-16-16 1.7116 " X12 25 16 745 T 41

e Q24293-20-20 11116 " %12 32 20 995| 78 50
Q24293-24-24 b 38 24 110 | 86 80

51
L .
f!w

SAEjx= 3000PSI 618

Q87313 SAE Flange 3000 PSI Code 61
1SO 12151-3-SAE J516

5 Hene 4% HOSE BORE i+ DIMENSIONS

PART NO. FLANGE SIZE| /:#:p44=DN | #x'5 DASH L o Tl LR
Q87313-12-12 3/4" 19 12 50 38.1(6.73

Q87313-16-12 1" 19 12 53 444| 8

Q87313-16-16 1" 25 16 54 44.4| 8

Q87313-20-16 114 25 16 59 50.8| 8

Q87313-20-20 1.1/4" 32 20 80 50.8| 8

Q87313-24-20 142 32 20 70 60.3| 8

Q87313-24-24 142 38 24 70 60.3| 8
Q87313-32-24 o 38 24 B7.5 71.4|9.53
Q87313-32-32 2 51 32 64.5 71.4|9.53
45° T SAEX= 3000PSI 615

45° SAE Flange 3000 PSI Code 61
Q87343 ISO 12151-3-SAE J516
e PRt ¥4 HOSE BORE F+} DIMENSIONS

PART NO. FLANGE SIZE| Z:¥:P372DN | kxS DASH L/ H| b ]|L1

Q87343-12-12 3/4" 19 12 75.7| 26 |38.1[6.73

Q87343-16-12 1" 19 12 81.7| 32 |44.4| 8

Q87343-16-16 1" 25 16 81.9| 32 |44.4| 8

Q87343-20-16 1,1/4" 25 18 87.9| 38 |50.8| 8

(87343-20-20 1.1/4" 32 20 106.8) 38 |50.8| 8

Q87343-24-20 1.1/2" 32 20 112.8| 44 |60.3| 8

Q87343-24-24 1.1/2" 38 24 117.1) 44 |60.3| 8

Q87343-32-24 2" 38 24 1291 56 |71.4/9.53

Q87343-32-32 2" 51 32 1405/ 56 |71.4|9.53

@

HYDRAULICS

BNEZERERMEBRLF

CANGZHOU QC HYDRAULICS CO., LTD

<l




tgizsk HYDRAULIC HOSE FITTING ==

Swaged Hose Fitting

90°SAE j%= 3000 PSI 618

Q87393 90°SAE Flange 3000 PS| Code 61 1SO 12151-3-SAE J516
5 ks #H HOSE BORE i+ DIMENSIONS
PART NO. FLANGE SIZE| 4 FiPA4EDN | {75 DASH L|HI|[D]|L
Q87393-12-12 34" 19 12 69 | 58 |38.1|6.73
Q87393-16-12 1 19 12 69 | 70 [44.4| 8
Q87393-16-16 1" 25 16 745| 7O [44.4| 8
Q87393-20-16 1.1/4" 25 16 745| 90 |50.8| 8
Q87393-20-20 1.1/4" 32 20 995| 90 |50.8| 8
Q87393-24-20 1.1/2" 32 20 99.5| 104 |60.3| 8
Q87393-24-24 1.4/2" 38 24 110 | 104 |60.3| 8
Q87393-32-24 a 38 24 110 | 138 | 71.4 | 9.53
Q87393-32-32 2 51 32 133.3| 138 [71.4|9.53

SAE%Z= 6000 PSI 628

QB 761 3 SAE Flange 6000 PS| Code 62 15O 12151-3-SAE 1516
i ®e FEEmE 5 HOSE BORE Ji5 DIMENSIONS
PART NO. FLANGE SIZE | £ /412DN | 55 DASH P (i L1
Q87613-12-12 3/4" 19 12 52.5(41.3 8.76
Q87613-16-12 1" 19 12 55.5|47.6 9.53
Q87613-16-16 1= 25 16 58.5|47.6 9.53
Q87613-20-16 1.1/4" 25 16 66 | 54 10.2
Q87613-20-20 1.1/4" 32 20 67.5| 54 10.29|
Q87613-24-20 142" 32 20 76 |63.5 12.5
Q87613-24-24 1.9/2" 38 24 77 |83.5 12.57|
Q87613-32-24 2 38 24 B4 |79.4 12.5
Q87613-32-32 2 51 32 84 |79.4 12.57|

45°SAEFL = 6000 PSI 628U

Q87643 45°SAE Flange 6000 PSI Code 62 1SO 12151-3-SAE J516

i EARE % HOSE BORE JisF DIMENSIONS

PART NO. FLANGE SIZE | Z:F/4/#DN | #5'5 DASH L|H]|D|L

Q87643-12-12 3/4" 19 12 757 | 26 |41.3|8.76

Q87643-16-12 1" 19 12 817| 32 |47.6(9.53

Q87643-16-16 1" 25 16 819| 32 |47.6|9.53

Q87643-20-16 1.1/ 25 16 879| 38 | 54 |10.29

Q87643-20-20 1.1/4" 32 20 106.8| 38 | 54 [10.29

Q87643-24-20 1.1/2" 32 20 112.8| 44 |63.5[12.57

QR7643-24-24 1.1/2" 38 24 117.1| 44 |63.5|12.57

- | Q87643-32-24 2' 38 24 120.1| 56 |79.4[12.57

@ Q87643-32-32 z 51 32 140.5| 56 |79.4[12.57
@© BMEE R ERMERAS
HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<l



RE

#2sk  HYDRAULIC HOSE FITTING M=

Swaged Hose Fitting

Q87693

90°SAE;L = 6000 PSI 628!

90°SAE Flange 6000 PSI Code 62 ISO 12151-3-SAEJ516

s e 45 HOSE BORE ) DIMENSIONS
PART NO. FLANGE SIZE| £:#1512DN | #i'5 DASH Ll H|D]|L
Q87693-12-12 3/4" 19 12 69 | 58 |41.3[8.76
Q87693-16-12 1! 19 12 69 | 70 |47.6(9.53
Q87693-16-16 1" 25 16 745| 70 |47.6|9.53
Q87693-20-16 1.1/4" 25 16 745| 90 | 54 [10.29
Q87693-20-20 1.1/4" 32 20 995| 90 | 54 |10.29
Q87693-24-20 1.42" 32 20 995 104 [63.5|12.57
QB87693-24-24 1.4/2" 38 24 110 | 104 | 63.5[12.57
Q87693-32-24 o 38 24 110 [ 138 [79.4[125
Q87693-32-32 2 51 32 133.3| 138 [ 79.4 [12.57|
SAEiZ = 9000 PSI
Q87913 SAE Flange 9000 PS|
s g $# HOSE BORE Jis} DIMENSIONS
L PART NO. FLANGE SIZE| AFrN4EDN | #75 DASH L|D L1
QB87913-12-12 3/4" 19 12 58 |41.3 14.3
al 4L QB87913-16-12 15 19 12 62.5|47.6 14.3
77 e Q87913-16-16 1 25 16 63.5|47.6 14.3
L] Q87913-20-16 1.1/4" 25 16 70.5| 54 14.3
Q87913-20-20 1.1/4" 32 20 71.5| 54 14.3
QB7913-24-20 112" 32 20 78.5|63.5 14.3
Q87913-24-24 1.1/2 38 24 79 |63.5 14.3
45°SAE %= 9000 PSI
Q87943 45°SAE Flange 9000 PSI
v i) #:%% HOSE BORE J2s+ DIMENSIONS
- L PART NO. FLANGE SIZE| AFii DN | 75 DASH L|H]D]L
ﬁﬂmﬂl Q87943-12-12 3/4" 19 12 80 | 35 [41.3[14.3
/‘I Q87943-16-12 £ 19 12 81,5/36.5(47.6]14.3
Q87943-16-16 1" 25 16 93 | 38 |47.6|14.3
2 QB87943-20-16 1.1/4" 25 16 955| 40 | 54 |14.3
~ . , Q87943-20-20 1.1/ 32 20 109 |44.5| 54 |14.3
. Q87943-24-20 1.1/2° 32 20 111 | 46.5|63.5 14,3
Q87943-24-24 1.1/2" 38 24 127 |51.5|63.5|14.3

@

HYDRAULICS

BNEZERERMEBRLE

CANGZHOU QC HYDRAULICS CO., LTD

)




#reg#zsk HYDRAULIC HOSE FITTING =

Reusable fitting
90°SAE;% 2 9000 PSI
Q87993 90°SAE Flange 9000 PSI
L e e 0 HOSE BORE Jisi DIMENSIONS
PART NO. FLANGE SIZE| 7:f5i44DN | 455 DASH L] H]D]|L1
Q87993-12-12 3/4" 19 12 71 | 69 |41.3[14.3
" Q87993-16-12 1l 19 12 71 | 71 |47.6[14.3
Q87993-16-16 1" 25 16 82 | 78 |47.6|14.3
QB7993-20-16 1.1/4" 25 16 82 | 81 | 54 [14.3
5 _ Q87993-20-20 1.1/4" 32 20 99.5|935| 54 |14.3
\ Q87993-24-20 1.172" 32 20 99.5|96.5/63.5|14.3
QB7993-24-24 1.1/2" 38 24 118 | 106 | 63.5] 14.3
SAE 100 R5 i ZEaliRER
Q00518 Ferrule For SAE 100 R5 Hose
e %% HOSE BORE Fi+ DIMENSIONS
PART NO. #72 DASH L S
Q00518-04 04 28 17
Q00518-05 05 30.5 19
QD0518-06 08 33 22
Q00518-08 08 42 24
Q00518-10 10 455 30
Q00518-12 12 53.5 32
Q00518-16 16 42 36
" Q00518-20 20 44.5 46
Q00518-24 24 47 50
Q00518-32 32 57 65
B SMEEI60° YT
Q12618-R5 Male 60° Cone Seat
e fear T ¥ HOSE BORE Js} DIMENSIONS
2t PART NO. THREADT | A% /42 DN | #5 DASH s1
Q12618-04-04(R5) | G1/4"X19 5 4 14
«3\:- = Q12618-06-05(R5) | G3/8"X19 6 5 17
Q12618-06-06(R5) | G3/8"X19 8 3 17
Q12618-08-08(R5) | G1/2"X14 1" 8 22
Q12618-10-10(R5) | G&/&"X14 13 10 24
Q12618-12-12(R5) | G3/4"X14 16 12 27
Q12618-16-16(R5) | G1"X11 22 16 36
Q12618-20-20(R5) | G1.1/4"X11 28 20 46
Q12618-24-24(R5) | G1.1/2'X11 35 24 50
Q1261832-32(R5) | @G2"X11 46 32 60
@ BMERREEH GRS
HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



#rg#zsk HYDRAULIC HOSE FITTING 2=

Reusable fitting
EHGHEERY
Q15618-R5 NPT Male
e WEsr T 44§ HOSE BORE Jisf DIMENSIONS
PART NO. THREAD T fi2 DASH s1
o Q15618-02-04(R5) | Z21/8"X27 04 12
. :[th]:F’ Q15618-04-04(R5) | Z1/4"X18 04 17
= LE Q15618-04-06(R5) | Z1/4"X18 06 17
: Q15618-06-06(R5) | Z3/8"X18 05 19
Q15618-06-06(R5) | Z3/8"X18 06 19
Q15618-08-08(R5) | Z1/2"X14 08 22
Q15618-12-10(R5) |  Z3/4"X14 10 30
Q15618-12-12(R5) | Z23/4"X14 12 30
Q15618-16-16(R5) | Z1"X11.5 16 36
Q15618-20-20(R5) | Z1.1/4"X115 20 46
Q15618-24-24(R5) | Z1.1/2"X115 24 50
Q15618-32-32(R5) | Z2"X11.5 32 65
£ JIC SMBLL 745 HEE
Q1 671 S“RS JIC Male74® Cone
e B T 4% HOSE BORE Ji<} DIMENSIONS
PART NO. THREAD T ke DASH 51
Q16718-04-D4(R5) | 7HE"X20 04 12
Q16718-06-05(R5) | 9/16"X18 05 17
Q16718-06-06(R5) | 9/16"X18 06 17
Q16718-08-06(R5) | 3/4"X16 06 22
Q16718-08-08(R5) |  3/4"X16 08 22
Q16718-10-10(R5) | 7/8"X14 10 24
Q16718-12-12(R5) | 1.1/116"X12 12 30
Q16718-16-16(R5) | 1.5(16"X12 16 36
Q16718-20-20(R5) | 1.5/8"X12 20 46
Q16718-24-24(R5) | 1.7/8"X12 24 50
224 SAE SMRL 905 E
Q17818-R5 SAE MaleBmCoE
e BEZL T 4 HOSE BORE Jis} DIMENSIONS
PART NO. THREADT ti e DASH 51
Q17818-06-06(R5) | 7/16"X20 06 17
Q17818-08-08(R5) | 9/16"X18 08 22
Q17818-12-12(R5) 9/16"X18 12 30
@© BMERRERHERRT
HYDRAULICS CANGZHOU QC HYDRAULICS CO., LTD

<



gzt HYDRAULIC HOSE FITTING =

Reusable fitting

AFRRER4HHOR B R RT
Q20418D-R5 METRIC Female 24° Cone O-ring L.T.

e o T 4 HOSE BORE %744 D|_ i DIMENSIONS
PART NO, THREADT | ##kiA% DN | 5% DASH | TUBEO.D c |s1] s2
Q20418D-14-04(R5) | M14X1.5 5 4 B 14 | 12 | 17
Q20418D-16-05(R5) | M16X1.5 6 5 10 21| 14 [ 19
Q20418D-18-06(R5) | M18X1.5 8 6 12 18 | 17 | 22
Q20418D-22-08(R5) | M22X4.5 11 8 15 3 |19 ] 27
Q20418D-26-10(R5) | M26X1.5 13 10 18 21| 27 | 32
Q20418D-30-12(R5) M30X2 16 12 22 38| 30 3
Q20418D-36-16(R5) M36X2 2 16 28 45| 36 | 41
Q20418D-45-16(R5) M45X2 22 16 35 4 | 41| 50
Q20418D-45-20(R5) M45X2 28 20 35 4 | 41| 50
Q20418D-52-24(R5) M52X2 35 24 42 4 | 50 | 60
AHAESR4HTHORBE RS

Q20518-R5 METRIC Female 24° Cone O-ring H.T.
e WEar T ¥ HOSE BORE w44 D| J] DIMENSIONS
PART NO. THREADT | /A #%p94% DN | f5% DASH | TUBEO.D C |81 82
Q20518D-16-04(R5) | M14X1.5 5 04 8 18] 14 | 19
Q20518D-16-05(R5) | M16X1.5 6 05 8 18] 14| 19
Q20518D-1804(R5) | M18X15 5 04 10 15| 17 | 22
Q20518D-18-06(R5) | M18X1.5 8 06 10 15| 17 | 22
Q20518D-20-06(R5) | M20X1.5 B 06 12 25| 17 | 24
Q20518D-22-06(R5) | M22X1.5 8 06 14 3 [18] 27
Q20518D-24-08(R5) | M24X1.5 11 08 16 3 | 22 30
Q 20518D-30-10(R5) M30X2 13 10 20 25|27 38
Q20518D-30-12(R5) M30X2 16 12 20 25| 27 | 38
Q 20518D-36-12(R5) M36X2 16 12 25 32| 3 | #1
Q20518D-36-16(R5) M36X2 2 16 25 32| 36 | 41
Q 20518D-42-16(R5) M42X2 2 16 30 39| 411 50
Q 20518D-42-20(R5) M42X2 28 20 30 39| 41| 50
Q 20518D-52-20(R5) M52X2 28 20 38 45| 50 | 60
Q 20518D-52-24(R5) M52X2 35 24 38 45| 50 | 60
90°2=Hl NPSM P93R4Z 60°MEmE
Q21698D-R5 90°NPSM Female 60° Cone

e W T ¥:4% HOSE BORE R~ DIMENSIONS
PART NO. THREADT | /%7442 DN | $7% DASH B | H|s1]|s2
Q21698D-04-04(R5) |  1/4"X18 6 04 46 [405] 14 | 19
Q21698D-06-05(R5) | 3/8"X18 8 05 6 | 43 | 14 | 22
Q21698D-06-06(R5) |  3/8"X18 10 06 6 |453| 17 | 22
Q21698D-08-08(R5) | 1/2'X14 12 08 75 [532] 19 | 27
Q21698D-12-10(R5) |  3/4"X14 16 10 8.9 [535] 24 | 32
Q21698D-12-12(R5) | 3/4'X14 20 12 89 [69.1] 27 | 32
Q21698D-16-16(R5) | 1"X11.5 25 16 105 75 | 32 | 41
Q21698D-20-20(R5) | 1.1/4"X11.5 32 20 12| 86 | 41 | 50
Q21698D-24-24(R5) | 1.1/2"X11.5 40 24 11.2[101.5| 46 | 55
Q21698D-32-32(R5) | 2"X11.5 50 32 1121245 65 | 70

@

HYDRAULICS

BHEZERERMEIRAE

CANGZHOU QC HYDRAULICS CO., LTD

<




#rg#zsk HYDRAULIC HOSE FITTING 2=

Reusable fitting
AR EL 60°SMER
Q22618D-R5 BSP Female 60° Cone
g He B T # i HOSE BORE Ji<F DIMENSIONS
PART NO. THREADT 5% DASH C | 81|82
Q22618D-04-04(R5) | G1/4"X19 04 55| 14 | 19
Q22618D-06-05(R5) | G3/8"X19 05 63| 17 | 22
222618D-06-06(R5) | G3/8"X19 06 63| 17 | 22
Q22618D-08-08(R5) | G1/2"X14 08 75| 19 | 27
Q22618D-10-10(R5) | G5/8"X14 10 95| 22 | 30
Q22618D-12-12(R5) | G3/4"X14 12 1098 | 27 | 32
Q22618D-16-16(R5) G1"X11 16 M7 32 | 41
Q22618D-20-20(R5) | G1.1/4"X11 20 11 | 41 | 50
EHORFSAIRSCFE N AR
Q2421 8D-R5 ORFS Female Flat Double Hexagon
ok Wy T ;% HOSE BORE it DIMENSIONS
o 3! PART NO. THREADT Fis DASH c |s1]8s2
Q24218D-04-04(R5) 9/16"X18 04 g5 | 14 | 19
Q24218D-04-05(R5) 9/16"X18 05 g5 | 14 | 19
Q24218D-06-06(R5) 11M16"X16 06 10 17 | 22
Q24218D-08-08(R5) | 13/M6"X16 na 1" 19 | 27
Q24218D-10-10(R5) 1"X14 10 13.5] 24 | 30
Q24218D-12-12(R5) | 1.3/16"X12 12 15 | 30 | 36
Q24218D-16-16(R5) | 1.7/16"X12 16 15 ] 36 | #1
Q2421 8D-20-20(R5) | 1.11/16"X12 20 15 | 41 | 50
Q24218D-24-24(R5) 2"X12 24 16 | 50 | 60
S JIC IR T4 EEE
Q26718D-R5 JIC Female 74° Cone Seat
5 BT #%# HOSE BORE S5+ DIMENSIONS
52 51 PART NO. THREADT 55 DASH c 51 | 82
Q26718D-04-04(R5) 7/16"X20 04 g 14 | 15
Q 26718D-05-05(R5) 1/2"X20 05 895 | 14 | 17
Q26718D-06-06(R5) 9/16"X18 06 105 17 | 19
(Q 26718D-08-08(R5) 34"X16 08 11 22 | 24
(1 26718D-10-10(R5) 7/18"X14 10 13 | 27 | 27
Q26718D-12-12(R5) | 1.1/16"X12 12 15 | 32 | 32
Q26718D-16-16(R5) | 1.5M16"X12 16 16 | 38 | 41
(226718D-20-20(R5) 1.5/8"X12 20 17 | 41 50
(0 26718D-24-24(R5) 1.7/8"X12 24 20 | 46 | 55
Q26718D-32-32(R5) | 2.1/2"%12 32 235| 65 | 75

@

HYDRAULICS

BNEZERERMEBRLF

CANGZHOU QC HYDRAULICS CO., LTD

<



gzt HYDRAULIC HOSE FITTING =

Reusable fitting

90°55 JIC PRIRL 74 AEE

Q27898D-R5

0267 98 D-R5 90°JIC Female 74° Cone Seat
L% W T % HOSE BORE Jist DIMENSIONS
PART NO. THREADT | 4o pasH c|H[s1]s2
Q26798D-04-04(R5) | 7/16"X20 04 9 |335| 14 | 15
Q26798D-05-05(R5) | 1/2"x20 05 95| 37 | 14| 17
Q26798D-06-06(R5) | 9/16"X18 06 10.5(39.3| 17 | 19
Q26798D-08-08(R5) | 3/4"X16 08 11 |475| 19 | 24
Q26798D-10-10(R5) | 7/8"X14 10 13 (525 24 | 27
Q26798D-12-12(R5) | 1.1/16"X12 12 15 [635| 27 | 32
Q26798D-16-16(R5) | 1.5/16"X12 16 16 | 70 | 32 | #1
Q26798D-20-20(R5) | 1.5/8"X12 20 17 | 85 | 41 | 50
Q26798D-24-24(R5) | 1 7/8"X12 24 20 |975/| 46 | 55
Q26798D-32-32(R5) | 2.1/2""X12 32 235(1188| 65 | 75
SERISAE RIS 90°PIHEE
Q27818D-R5 SAE Female 90° Cone Seat
= e T .5 HOSE BORE Ji<t DIMENSIONS
PART NO. THREAD T 75 DASH Cc | s1] 82
Q27818D-04-04(R5) 7116"%20 4 9 | 14 | 15
Q27818D-05-05(R5) 1/2"%20 05 9 | 14 | 17
Q27818D-06-06(R5) 5/8"X18 06 113 17 | 22
Q27818D-08-08(R5) 314"%16 08 1| 22 | 24
Q27818D-10-10(R5) 7/8"X14 10 13| 27| 27
Q27818D-12-12(R5) | 1.1116"X14 12 143| 32 | 32
90°5E%l SAE AR5 90° N H#EmE
90°SAE Female 90° Cone Seat
s WA T ¥ HOSE BORE Jist DIMENSIONS
PART NO. THREADT | /:#/ DN | $55 DASH c | H|s1]s2
Q27898D-06-06(R5) 5/8"X18 10 06 11.3(408| 17 | 22
Q27898D-08-08(R5) 3/4"X16 12 08 105(475| 19 | 24

@

HYDRAULICS

BHEZERERMEIRAE

CANGZHOU QC HYDRAULICS CO., LTD

<




